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Match the following
List-1

(a) Order

(b) Species

(¢) Family

(d) Class

Bod TB BSHEB0s

e -1
(@) BSo0
(b) =&
() &oénoxo
(d) ssKs

The correct answer 1s

00 LoD 23a3°20

Options :
(@) (b
¢ B D
(@ (b
, » @) ()
(@ (b
) ()

3

(¢)
(111)

(c)
(1v)

(c)
(1v)

(d)
(V)

(d)
(1)

(d)
(V)

(1)
(11)
(111)
(1v)
(V)

(1)
(i1)
(111)
(1v)

List-1I
Nigrum
Polemomiales
Solanum
Solanaceae
Dicotyledonae

e -1l
S
FOITAFOR
SR SRS

oIV
35808

Question Number : 1 Question Id : 492863961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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(@ @® () (@
(1) (@) (v (1)

4 %

Question Number : 2 Question Id : 492863962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Assertion (A) : Euglenoids have a flexible body.

Reason (R):  They have a protem rich layer called pellicle. which makes their body
flexible.

QNS0 (A): cboisronben Sdogdie 080 §8A wolrow.
w0 (R): 8" %0d 88 effor o DOES olnd P8 o 78 o8
5558 BErEBI0B.

Which of the following 1s true?
& 808 TS B DSBgBw?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
: P (A) 5080w (R)Bodr 85850 Hocsw (A)§ (R) 505308 Jhdeo
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) So8asn (R)3ods QBLAW, 57 (A)§ (R) QOGN AT B
& ®
(A) 1s true. but (R) 1s false
(A) 35500, 572 (R) edegdm
3 8
(A) 1s false. but (R) 1s true
(A) 38550, 570 (R) g0
e

4.

Question Number : 3 Question Id : 492863963 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single

Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Study the following lists and match the discoveries and/or inventions made by the scientists
during 20 century

List-1 List-1I
(a) Oxygenevolution from H,O in (1) Benson
photosynthesis

(b) C,pathway of Carbon assimilation  (11) V.S.Rama Das

(c) Contribution to C,-photosynthesis  (1i1) Robert Hill

(d) Artificial synthesis of genes (1v) Hara Govind Khorana
(v) Frankel Conrat

205 derod® Tyepen M) So0c0/BE Erdfoyd BOS & Bod T8I ©gaiso
B0 BSIEI0s

e -1 e - 11
(a) 8eadgdodrd (BokeS® A (1) BISS
D0 Bue I
(b) C,5rgos® S drcohgde (i) V.o
() C,88adgdoRrifobi dS8wen (11) oraf S
(d) =2dDgIe &S &aird (Iv) 58 A'Qod o

V) (D08S §50°¢

The correct answer 1s

00 ©oNN a0

Options :
@ ® © @
LW @ @ @)
@ b (© (@
L@ @ O G
@ @® © (@
. (O G) G W)
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Question Number : 4 Question Id : 492863964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pteriodophytes. especially ferns possess the following characteristics
1)  Circinate vernation

11) Ramenta

i11) Eustele

iv) Paraphyses

D0G P8 e, Jopgomr PHew & §od vFrod EOA Godraxn
1) $OS8J00H JTgHd

1) o°Soodr

i) ord

V) SHdodhden

The correct combination is

28 $050S I¥DoDH

Options :

m&iv

-----
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Question Number : 5 Question Id : 492863965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Read the following combinations and arrange the below chronologically in the light of
evolution

1)  Vascular Cryptogams - Ramenta

11) Embryophytic non-archegoniate phanerogams - presence of companion cells i
phloem

111) Plant amphibians - elaters
1iv) Tracheophytic archegoniate phanerogams - no vessels i xylem

& 1808 ¥D0YD BEH0E DB sHrdor 1§od 8 sroEdrddrdor eddod
1) &I55gSY So FFray) - ool

1) oK% ng DerdoDSENBI YPoBIwG e - FRE Ereod” drEarasodron
111) GFoDIEI0EH e - IBLE

V) S Sgipaing, @ dardohinde PNoB InvH e - THTTBI TEHI

The correct sequence 1s
QB JBAS SEBEB00
Options :

11, 1. Iv. 11

111. 1. 11. 1V

111, 1V, 1. 11

1, 111, 11, IV
4 ®

Question Number : 6 Question Id : 492863966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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The mnflorescence found i Jasmine i1s a

NTS" Y YQYIITEI0
Options :
Polychasial cyme

RITVTPOD IS0

Cymule

AT W\
— 5 J@U
Dichasial cyme
&ﬁ‘“@a‘i& IS0

Monochasial cyme

QETHA NS0

Question Number : 7 Question Id : 492863967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In watermelon the spirally coiled stem modifications which help in chmbing are developed
from

DS’ IeTrEETAE GIHBrHIB OB SBAS FH) & Jood EFB SrFrodlo
DO 0H

Options :

Apical bud
o §6%o
1 %
Adventitious bud
NI §'G¥o

Zﬁ
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Axillary bud
Qﬁiﬁé 8§58 o

3
Termunal bud
oy §'080
4. -4

Question Number : 8 Question Id : 492863968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following
List-1

(a) Flowers appear to have arisen from the same
point of peduncle

(b) The sessile flowers are arranged on
peduncle in acropetal manner

(c) The sessile unisexual and neuter flowers
arranged 1n acropetal succession protected
by a modified bract

(d) Unisexual and/or bisexual sessile flowers
develop centripetally on a condensed peduncle

$od TEQ 2SITW0s
e -1

(@) JITyoQ) YAy ITgdSodo ewBSo Dok
ﬁé&éoﬁ)é@ S F0N |

(b) DOSTITE PANLY YQYDT"ED 200 ol
SITHFEEN0eS” @0 Godrow

(C) &>r>oddo BobS HA @55'1)0@6 8o dedosr
SYosET 4, QED0KE, Hodyg QT
SITHPYE 00" @b wolraw

(d) Sypd8rd 800K J00000/BE B1doK YIryen
SoBoTDES YRJYDTGD aﬁaoeﬁoﬁbcﬁ SoTAIY
Bdood” H& Fotbarow

The correct answer 1s

00 PO BT

Options :

@ O © @
e @ G W) ®)

@ ® (© (@
5. (1) (@u) () @av)

(1)
(11)
(111)

(1v)
(V)

(11)

(111)

(iv)

(V)

List-1I

Corymb
Umbel

Spike

Capitulum

Spadix
rder - 11
DB508D
s'b&ﬁﬁ)o

508§
=§<"§5§

@3&’9 §)
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Question Number : 9 Question Id : 492863969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Assertion (A) : Bamboo species 1s a perennial plant and exhibit unusual flowering
phenomenon.

Reason (R):  Bamboo plant flowers only once. 1.e. at the end of the life after 50-100
years.

APSI0 (A): I 2.8 2o 08 J08), o005 G RN PoW $)Accir)
P08,

580 (R): 3 50-100, Soleore SHTE FEHEFS' wBug)F0 Yo,

Which of the following is true?
& 8od TIS* B HSgH0?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
S (A) 508050 (R)Bodsr S&gdn H8cdn (A)§ (R) S80S S8

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) S0805n (R)Bodr &g, 570 (A)§ (R) 388308 Jhdes 5780
> R
(A) 1s true. but (R) 1s false
(A) 383500, 572 (R) esde8gdon
3 -
(A) 1s false. but (R) 1s true

" (A) ed8gd0, 20 (R) S5l
4
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Question Number : 10 Question Id : 492863970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Assertion (A) : Cellular thickenings at the micropylar tip guide the pollen tubes into the
synergids.
Reason (R):  Synergids have antipodals located at the chalazal end.

APSI0 (A): odmdy 5 I8 &) Sdome JTHTTORN ST ETros'V8
DELrA8 T8 S ow.

580 (R): DTP0% Begren WY Seorod EOA G0l JorEr FIIY wolrow.

Which of the following 1s true?
& 8o TAS* B DEgHN?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
F (A) S08csn (R) Dok QB0 0OTTW (A)§ (R) S0508 D58e
1
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)

" (A) 08a8w (R)Todsr 38550, 570 (A) 8§ (R) S80S 58 578
2

(A) 1s true. but (R) 1s false

(A) 385500, 572 (R) o9dggdmw
3

(A) 1s false. but (R) 1s true

(A) eddg5m, 5 (R) deg50

4.ﬁ

Question Number : 11 Question Id : 492863971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Dichogamy and herkogamy are the important devices or modifications to prevent one of
the following:

DHTOE HEE S08cn TELAD ©F Snpgd Sroren B8 SrFodven, uf 8o
TS 2 T BT

Options :
Asexual reproduction

o VSoNE RSOISS
Cross pollination
REI0°N VoRG),0

Autogamy

t‘:séééo‘ﬁ Eéoéézro
3

Vegetative propagation

TEOL &S

Question Number : 12 Question Id : 492863972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Study the following lists. Match the floral parts given in List - I with the corresponding

symbols. in List - II

List-1 List-1I
(a) Calyx 1 @
(b) Ovary superior (11) %
(¢) Actinomorphic (111) C
(d) Zygomorphic (iv) K
V) G

& §08 @DeoH wPgohso Bobosd. @de -1 & &8 JQrrod, rde -1 &

&) 0IW® Dossrod® 2d Srdyod

e -1 e - 11
() 88 Bigo i) @
(b) &gy ©ogE¥o (1) %
(€) ®HSsndo (iii) C
(d) 8% FHSSNS0 (iv) K
v G
The correct answer 1S

00 YOS 2aIrew

Options :

@ @® (© @
Ja) v ) @

).

@ @O © @
v) () (v) (@)

@ ® (© (@
av) & @ ()

@ @® () @
v v @ ()
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Question Number : 13 Question Id : 492863973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Example for a monodelphous androecium 1s

28208 8059
Options :
Pisum
et Pop ;‘T‘\
‘f:smw
1 _
Solanum
n@i&ﬁijﬁn}
> %
Dracaena
_(FRT
3 -
Crotalaria
(EoT6atr
4

Question Number : 14 Question Id : 492863974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Assertion (A) : The “Fluid Mosaic model” proposed by Singer and Nicolson indicated
that the quasi-fluid nature of lipid enables lateral movement of proteins
within the overall bilayer.

Reason (R):  Inthe cell wall of a young plant cell. the primary wall 1s capable of growth.
which gradually diminishes as the cell matures and the secondary wall 1s
formed on the inner side of the cell.

QHSd0 (A):  FEE (B5pES” ©03 ObEo v¥no Jwdo BEEpIrIS’, PES v
FEN ESOEOR Den EOAOEN DoKS, VESIS PEFEoNS Irowd
oranf drTrS” SorRodwdod.

s¥0 (R): BEI0E), S EEST0S’, | FEWE EIT0 HMLE Sgs SdAS0E,
ESoom Eo SHOIYE @& Sh Hreoh ESPo Ewo STHO IYL
Ddgéoéooﬁ.

Which of the following is true?
& Bod TAS* B D&gH0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
i (A) 508050 (R)Bodo Q90 0BASW (A)§ (R) 28508 J58e
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)

(A) 0805w (R)Todsr 38550, 570 (A) 8 (R) S80S 58 57
> ¢

(A) 1s true. but (R) 1s false
(A) 33500, 570 (R) ed&gdmw
3 %

(A) 1s false. but (R) 1s true

. (A) 38350, 572 (R) g0
4

Question Number : 15 Question Id : 492863975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Among the following. identify the Zwitterionic form

& 80b TS B VoSrH Erd>) EHMSos

Options :
|
H.N-CH-COOH
1. %
R
+ |
H,N - CH-COO"
2. ¥
R
T
H,N—CH-CO
3 ®
|
H,N—CH-COO"
4%

Question Number : 16 Question Id : 492863976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the changes which occur i the chromosomes during meiosis. with the different

phases of prophase-I
List-1

(a) Pachytene

(b) Zygotene

(¢) Diplotene

(d) Leptotene

(1)
(i1)

List-1I
Compaction of chromosomes
Terminalisation of chiasmata

(111) Pairing of chromosomes

(1v)
(V)

Dissolution of synaptonemal complex
Recombination nodule

goSoEle APedS’ FIrFooS” 200 Srdjod PENEE -1 S &) Idk S

2SICWod
e -1
(a) 883
(b) BA*ES
() AX8S
d) sF8S

The correct answer 1s
o0 oI 2N

Options :

@ @ (0
7 v) (v) (1)

@ (b ()
() (1) (1)

> R
@ (b (o)
e ) @ (i)

(d)
(1)

(d)
(1v)

(d)
(V)

(1)
(i1)
(iii)
(iv)
\Y

e - 11

E'3Irdne 5080

Sl o @o@&%@ééw
FIrFen 2ESrdob
DT TS DofRo i

D) NERORBITe R TR wew
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@ @® © @
(v) () ) Q)

4

Question Number : 17 Question Id : 492863977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Which of the following are the characteristic features of phloem?

1)  Gymnosperms have albuminous cells and sieve cells

11) Presence of tracheids

1i1) They store food materials in the form of starch or fat.

1iv) They have sieve tube elements that are long. tube-like structures
v)  Their end walls are perforated in a sieve like manner

& 808 FES* D FRE Erodn DN, oFTe?

1) DS Deren voRMING Seren HOXD Trod Swren §OA Golrow

1) oo 08 oo

i) 2D 6FE ITToH Dod BE FHoIB Jog Godhe ow

V) 2D ToATY Sresten 04 Golron. R DEH™, TS0 o8 Jo7eTen
V) T8 20850 Bdgiides Gogdoindd 2BeI8 wotrron

The correct combination 1s
A0 JBOGY ¥
Options :

11, 111, v and 1

$ “*

1. 1 and 1
> 4

1.1V \V
. 1.1vand

v. 11. 1v and 11

collegedunia
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Question Number : 18 Question Id : 492863978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Study the diagram and the list given below

& (BoB DBk, HBEH egaHso Babos

1)  Chloroplast

11) Epidermal cell
111) Guard cell

iv) Subsidiary cell
v)  Stomatal pore

1) erdgils) Seodw
g

1) &

V) @208 Eeadw

V) SHi8doigso

The correct match 1s
B JOSDS Do¥oD)

Options :

@ (b (0
L e @) ) ()

(d)
(111)

gcollegeduniaa
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@ @® (© @
a @ @) @)

> &

@ @ (@ (@
v) v (@ (1)

3 ®

@ © © @
L, @) G G )

Question Number : 19 Question Id : 492863979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Hyvdrilla and Limnophila are examples for the following categories respectively
1)  Free floating hydrophyte and rooted hydrophyte with floating leaves
11) Submerged. suspended hydrophyte
1i1) Anamphibious plant
1iv) Submerged. suspended hydrophyte and a free floating hydrophyte
v)  Submerged. rooted hydrophyte and an amphibious plant

TG DO OAmpwr, & §od TEE SOIT Gl

1) 8w -‘505‘5&{? 88 A8 Jw§), Sodckn o Tod 8D 83 Jgew Ko AL I8,
1) FoT BS* H0dh, vdwodEomr ol I8 I,

111) &FoNBE ),

V) DES* 50000, BSwodSor God HE Ink, S0 B S HO Dok,

V) Q&S S0, ofiiEdn BobS 8 g, Sodokn el I008),

The correct combination 1s

20 J0GS ¥DoY)
Options :

1&11

1 ®

n&iv
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1&V

1 & 111
4 ¢

Question Number : 20 Question Id : 492863980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Indicate the correct statement from the following

& 808 TAS” JBS gy Hfodod
e

Ephemerals-Tridax: succulents-Asparagus: non succulents-Casurina-in xerophytes
BOY5"08 SR oo - (@T§) : SJP0T W - HHTVID 1 §JP0E0 T IoF oo -
50T - ATO ) oS

2. ¢
Roots absent/poorly developed if present generally fibrous and stem 1s long. slender
and flexible - in hydrophytes
380 BY / IR GHS S5S HB BodIY, ©I FFEeon DNIB Gotron
200050 dHR, PEIS el S0 sPoddn fo - A8 g os”

3 %

Mesophytes grow in such a balanced condition of water and gases but lot of adaptations
are necessary to face the favourable conditions

&, MmO S dogorie éf}%e‘b@eﬁ“ S’)Jcﬁg"g S0 e DHNESTow 5, vsre
é&’ége‘sa@&’)o A0G) IrAE T VNErOT O BIVTIHE 0N

collegedunia
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4 %

Cuticle 1s totally absent in submerged aquatic plants, while the epidermis i1s composed
of thick walled cells

QOS® 0N GoB I OS” VIR FOT GOk, @08 rFTrgElo DodIS
BT &) Berrod $dird wodood

Question Number : 21 Question Id : 492863981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Assertion (A) : Sodium chloride 1s dissolved in water and this solution will have a lower
water potential than pure water.

Reason (R):  The ¥, is always positive in comparison with pure water.

APSE0 (A): F&aBo §BE ABS® BoyT IGES (@ H0 GBoE), A )0 HFaoo E8)
8595 G0t
80 (R): DG 2ood Foym W, ddyd S8

Which of the following i1s true?
& 800 TIS° A& DSgBE0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 508050 (R)Bodr 8550 S0asn (A)§ (R) H05308 258
1. ®
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 508050 (R)Toder S8gdw, 570 (A) 8§ (R) S8808 Jh3de 570
> 8
(A) 1s true. but (R) 1s false
|, (W) sagie, 3 (R) edvdgsn
3
(A) 1s false. but (R) 1s true
(A) wdsgsn, £ (R) deg50

4 &R
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Question Number : 22 Question Id : 492863982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct :

1 Wrong: 0

Match the following

(a)

(b)
(c)

(d)

sod

(a)

(b)
(¢)

(d)

List-1
Chlorine

Sulphur
Potassium

Nickel

TR RSB0 s
e -]

565

9 @0)5
P ETPAON0

J8S

The correct answer 1s

00 O 1IN

Options :

(@ () (©
. (v) (1) (i)

1.

(1)
(ii)
(iii)
(1v)
(V)

(1)

(11)
(iii)

(1v)

(V)

List-1I

Helps to maintain an anion - cation balance
and 1s involved in protein synthesis

Helps in determining the solute concentration.

It 1s the main constituent of several
coenzymes and vitamins

Found to induce disease resistance in some
plants.

Structural component of Cytochrome ‘C’
oxidase

e - 11

FES $03des’ FSobr s5BrSen,
5L JDBOFOMT owddBs ¢ ol
ETRT0 Fodd T8y & E)HN

QDG SFloBZwoi N JbLlowdS® Ko
RS RS0

BQ) S8 0d° TEACTEESDH [@ohothLso
LYATSEY

PEEE0 D ©§)BR AoYETE)E w80
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@ b (¢ (@
(1) () @ (@)
@ ® () (@
() @av) () ()
@ @® () (@
e (1) (v) (@) (@1v)

Question Number : 23 Question Id : 492863983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The formation of the Enzyme - Substrate complex is essential for

JoBH-0EFHTY H08H0 EHLE BSHETEE

catalysis

chelation
8§BAR

elicition

anabolism

QT e )8 (800

Question Number : 24 Question Id : 492863984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumas
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Correct: 1 Wrong : 0



Arrange the path of electrons from water to the phycocyanin in the light reaction.
i)  Plastoquinone

11) Excited P680*

) Cytf

v) Fe-S

v)  Pheophytin

vi) Quinone

5708 $OgS’ A8 H0b PERISOH JoFe Sarer 2008 Srdod Edom Boyd
1) PSS
i) &32585 P680*

) 28 f
iv) Fe-S
V) 238
Vi) 8¢S

The correct sequence 1s
20 HOGS S ESoo
Options :
111, V. VI, 1. 11. 1V

1. %
11. V. V1. 1. 1V. 111
1V.11. 1. 111. V1. V
3 R

V1. 1V. V. 111. 11.. 1

Question Number : 25 Question Id : 492863985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Correct: 1 Wrong : 0



Find out where transketolase and epimerase reactions occur among the following :

i) G-3-P+ DHAP iy Fructose — 1—- 6 — bisphosphate

11)  Sedoheptulose—7—Phosphate + G—3 P — Xylulose —5—P+Ribose —5—Phosphate
i11) Ribose — 5 — Phosphate -—a» Ribulose — 5 — Phosphate

v) Xylulose — Phosphate —— Ribulose — 5 — Phosphate

v)  Fiuctose—6—Phosphate+G—3— P——-> Xylulose —5—Phosphate + Erythrose—4—Phosphate

& 808 BEgoet LrobiBE 0050 DSBS SEgen &6 akiS Kgosod

1) G-3-P+ DHAPL—I» P& —1-6- BFE

11) ‘i:@’“m??éﬁ ~+7-@°"an)65 +G—3—P1—> BoS™® —5-P+ 350 -5-F S
i) 3SW —5-FNS — B8wS'S -5 FNE

V) Ben&’® —5-— cao)éS — 82085 -5 - >0 O)éS

V) RER -6-20 35 +G—3—P—>§me’5‘5 —5->2E +0ED -4 - &"%5

The correct combination is
20 S8 Ho¥JoY

Options :

1 %
nmimé&v

2&

_— nv&iv

v.i&l

4.“

Question Number : 26 Question Id : 492863986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Correct : 1 Wrong: 0



In the TCA cycle. conversion of Succinyl - CoA to succinic acid 1s catalysed by

TCA SgoS” 3536 - CoA So0d JEIE o Yok SEIH

Options :

dehydrogenase
AT|ITRIE

1.2

thiokinase

o5 SreIS

decarboxylase

& O8BE

3 % :
synthetase
NOBBE

4.ﬁ

Question Number : 27 Question Id : 492863987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

In the oxidative decarboxylation reaction of citric acid cycle. following products are
observed when o-ketoglutaric acid 1s oxidized.

ABE 65y B0 BT BEHEBAS $550t -5 Htss siko whEdno 2BASSE
o lapopl SV Ddgéa?&:

Options :

Fumaric acid + FADH, + CO,

l.ﬁ
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Oxalosuccinic acid + NADH + CO,

s3SI o + NADH + CO,

> R
Succinyl CoA +NADH + CO,
5836 CoA +NADH +CO,
3
Malic acid + CO,
5708 w0 + CO,
4 % -

Question Number : 28 Question Id : 492863988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which hormone 1s sprayed to increase the length of stem in sugarcane crop?

DB SoLeS® srodo DEY DHH BB 2 S0 D Teedd

Options :

Ethylene
Q0O

1. ®

Cytokinin
B

F

fe

> &

Gibberellin

22000
3. #) o ™
ABA

Question Number : 29 Question Id : 492863989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Plasmuds have the following characters.
1)  They contain fewer genes than the bacterial chromosome.
i1) They have single stranded DNA

1i1) They can be used as vectors
iv) They contain linear form of DNA
v)  Plasmids confer protection to drugs

TR0 & (8ol vFmred Golrmon

1) r80chS FRardrdne ) 8595 adghen toirown
1) 2D 85 DNA £0a &odoso

i11) QD TIT T GIRTRIE

V) 2D A8S8 &) DNA 804 oo

V) 80 TAT J0880s’ S8yl

The correct combination 1s

20 30508 Ho¥do
Options :
| ® 1. V.1IV. 1. 111

1.111. V
> o

1. 1V. 1
3 &

11, V. 11. 1V
4 #®

Question Number : 30 Question Id : 492863990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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What 1s the order of events that occur in a bacteriophage lytic cycle?

T §00Sr>ES'Y BUE HFos’ Ko Ko Elo 26?
Options :
penetration = attachment = biosynthesis = maturation - release

©3¥0 2 ool 2 L5303k > VOIS > Do

attachment = penetration = biosynthesis = maturation - release

oS DPTHL > PIdo > E38cFaL > HOIES > B
> of

release = penetration = attachment = biosynthesis = maturation

Abode 2 HIFo > wolwRFHb = #5503de0 > HODES

attachment = biosynthesis = maturation = penetration - release

o DRTHEL > 253030 > J0IKE > @30 > Db
4 % -

Question Number : 31 Question Id : 492863991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the possible genotypic ratio in F, generation if a plant producing red flowers (RR)
1s crossed with another plant of the same species that produces white flowers (11)?

Q8Y) Yy (RR) Ko 3ng), o83 =88 BodS 358 8wohPnyen (I1) Ko Ioog) &
DoEYE00 2BLS T BokS SC0S’ B wiogdrd AN S DPorr GobKesn?

Options :
Red : Pink : White
BleChs) : oerd) : SO0
| : 3 ; 1

1. %
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| 2 |
> o

Red White

Q50 Se0Y)

3 1
3 _

RR : Rr ; IT

2 6 4
4 S

Question Number : 32 Question Id : 492863992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Assertion (A) : A single gene may be occassionally related to more than one character.

Reason (R) : The above phenomenon cannot be called as pleiotropy since a single gene
cannot be related to more than one trait.

APSI0 (A): a8 2308 OIYEINE w8 TR &N 8D ofrod Doxodo §O7
w0008,

580 (R): P BOYN DOBOYN 2TV (PTHE0 B, JOBION VI w8 I& 2305
208 ofsrod Jdowodo DA Godd.

Which of the following is true?
& 808 TAS* DB HBgBHN?

Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
e (A) S08c50 (R)Bodsr S&gdan Sdadn (A)§ (R) 9880s S8
1.
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) S0808w (R)Bodr 3835w, 570 (A) 8§ (R) 38308 Jhden 570

> R
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(A) 1s true. but (R) 1s false
o (A) 385500, 572 (R) evdggdm

(A) 1s false. but (R) 1s true

(A) @385, 570 (R) S&gd
4 ®

Question Number : 33 Question Id : 492863993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : Mice mfected with the S strain (virulent) die from pneumonia infection
but mice infected with R strain do not develop pneumonia.

Reason (R) :  This is because the S strain bacteria have a mucous (polysaccharide) coat.
while R strain does not.

APSID (A): o g 568 S C%S (758 SPEm) Sod SogIrdosr
TR YTow. T RC‘%E SO8 DFICAIT oK.

80 (R): B8 5780 S @5 wé@oﬁwa@" 307g80 F6 (FOTPT&ew) Gotnod.
5 R@Sé‘ G 08D,

Which of the following 1s true?
& (808 FIS* DB BSgHw?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 508050 (R)Bodr d8g50 $00s0 (A)8 (R) 985308 58w
1 ®
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
- (A) 508050 (R)3Bodoe RS0, 57 (A)§ (R) ROG0N DATed T

(A) 1s true. but (R) 1s false
(A) 3¢50, 570 (R) e9d&gSmw

32
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(A) 1s false. but (R) 1s true
- (A) 38550, 570 (R) S&gda

Question Number : 34 Question Id : 492863994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A change of single base pair in the gene for beta globin chain (in human haemoglobin) that
results in the change of amino acid residue glutamine to valine which is due to

SrdPN TICTASS® o D TS Hopwod® Ko 2gIS® ol F¥ 28 SrdBold
So8 PP DS B0 HOEPS TOST Sy Dodobs
Options :

Frame shift mutation

(P 29 e&0SET e
] ®

Point mutation

Do wSOBIgT
>

Insertion mutation

RN SOIFT e
3 Y

Silent mutation

PO0L wEOIETw

4 ®

Question Number : 35 Question Id : 492863995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Two of the following statements are correctly defined. Identify the correct combination
1)  Conversion of hnRNA to mRNA - processing

11) Removal of introns and joining of exons - splicing

111) Addition of adenylate residues to 3 ~end in a template dependent manner - Tailing
iv) Methyl adenosine triphosphate 1s added to 5-end of hnRNA - capping

& 808 TgpgoS” Tod JBVIIM ANOT2EID. TS ad ook

1) hnRNA & mRNA Sedb - @00k

1) adEgrae Hod I IR Eoand -"‘%}Eboﬁ

1) 08308 oidren 3-FIS’ §O0 Bowd Hdo@or ok - ZOoh
V) hnRNA & 5'92386° 236 0o 3 Bl Seod0d - 50of

Options :

1n& i

1&1
2. ¥

il 1&1v

40 mé& v

Question Number : 36 Question Id : 492863996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Restriction endonuclease recognises palindromic nucleotide sequences. because they have
characteristic

BRES oBErESD, FOTE'NE $rERrBE (E37Q) KoM, T8 DBS'D ofren

5°890

Options :

Dyad symmetry
L &8 T3S
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Staggered cut
TG DES

> R

Direction of expression
! ALY s’)gééf}oiﬁéao

Recombinant DNA sequences

PDavoddraesd DNA 500
4 ®

Question Number : 37 Question Id : 492863997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assertion (A) : The fragments of DNA generated by the action of restriction endonucleases
are separated by polyacrylamide gel electrophoresis.

Reason (R) :  The separated DNA fragments are visualized as bright orange coloured
bands after staining with Ethidium Bromide followed by exposure to
UV-radiation.

QS0 (A): 8@5‘5 QoG SrED WS Z’Jd&éé‘é DNA >den FOJEoDE BS
J@@@‘d?&ﬁ) DO IBDY 0.

g0 (R): 28&cho @'D6ES ozodBO UV TED0REH HOTVSIHYE IEFa
DNA Fden 57083508308 T80z Joihes” §dudd.

Which of the following 1s true?
& 1808 TIS® A8 J&gB0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
K= (A) 508080 (R)Bodr S8gdm 0adn (A) 8§ (R) 508808 580
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 508050 (R)Bodr v&g50, 5 (A) 8 (R) $8508 2580 &

> R
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(A) 1s true. but (R) 1s false

(A) S50, 57 (R) ed&gdm

3 ®

(A) 1s false. but (R) 1s true

(A) 238550, 570 (R) Segdmw
4 ¢

Question Number : 38 Question Id : 492863998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is involved in silencing specific mRNA?

& 1808 >&S* 233 MRNA & 28) (silencing) BoHhéross® FSIH 26?2
Options :
Complementary DNA molecule
Pords DNA @03

Protein template
. IES Sord HoEsw

2

Cellulose template

PO0gE'E SR PO

3 ®
Complementory RNA molecule
Qo8 RNA ee0)

4 ¢

Question Number : 39 Question Id : 492863999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Assertion (A) : Transgenic Golden Rice is rich in Vitamin A and prevents blindness.
Reason (R) : Itisobtamed from “Taiwan™.

PSS (A):  Er2F 20 $50 (FPSIR) S0t LS A ST od ©oddrod
Q& QoM.
s*¥=0 (R): R0 B ol 0HoNOG.

Which of the following 1s true?
& 808 TAS° B DEgHD?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
" (A) 508050 (R)Bodr d8g5w 000 (A)8 (R) 30508 58
1.
Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(A) 508080 (R)Bodr 8550, 570 (A) § (R) 28508 D580 570
> R
(A) 1s true. but (R) 1s false
(A) 385500, 57 (R) evdegdon
3. ¥
(A) 1s false. but (R) 1s true
(A) 38550, 579 (R) S&fgdm

4 ®

Question Number : 40 Question Id : 4928631000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Assertion (A) : Plants association with symbiotic species show benefits such as resistance
to root-borne pathogens. tolerance to drought.

Reason (R): Fungal symbionts in plant-fungal symbiotic associations facilitate
absorption of phosphorous by the plant from the soil.

APRS0 (A): InFHew ITEIS wrHeod T IPTrdo Sod I o TghoBd
2oEPo 0od CE 80w ITerard) SLES ¥ So8 orgren
PO LSO,

s°dm0 (R): S5LS53005708 SFTdo 28w S8 o0& 300|P SHTLHew 388
Do& IS pohisdens” S'Eydarow.

Which of the following is true?
& 808 FIS* B HSgH0?
Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(A) 500050 (R)Bodks He&gsn $00a50 (A)§ (R) H0508 56

1 8

Both (A) and (R) are true. but (R) is not the correct explanation of (A)

il (A) S08csw (R)Bod D850, 50 (A) 8§ (R) 86508 D8 5780

(A) 1s true. but (R) 1s false
(A) S8g500, 570 (R) eodefgdon

3 &
(A) 1s false. but (R) 1s true
(A) 38350, 570 (R) S&gd
4 ®
Zoology
Section Id : 49286326
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questions to be attempted: 40
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Section Marks:
Display Number Panel:
Group All Questions:

Question Number : 41 Question Id : 4928631001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Correct: 1 Wrong : 0

Match the following

(a)
(b)

(¢)
(d)

o

(a)

(b)

(¢)
(d)

List-1
Reproductively isolated from the
individuals of other species

Sharing the same ecological niche
Showing smmilarity in the karyotype

Yes
No

|
49286326
Yes

(1)
(iii)

Having similar structural and functional (1v)

characteristics

TR BSJJW0&

i -1

RST2EE JohS EYPOT RSgSE

DIES |WEB)Fo00

28 23758 PIQ) JotBolron
28YERS FTRrE Swe HLo WrhHFow

VT T S8, (8038 oo’
FOrRgED0 EOA oo

The correct answer 1s

DO Lo 2avtew

Options :

(@ ® (@ (@
e G G G @

(11)
(iii)
(1v)

List-1I
Genetic unit

An evolutionary unit
A breedmng unit
an ecological unit

&
()

8 DTN (DT 0

o8 (DRI W0

&
G

&

Wl B3N8 (@AT0

&
(]
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@ @® (@ @
.- (v) (m) (1) (1)

@ @® (@ (@
() @v) (1) (1)
3. ¢

@ (@® () @
(1) () () (@v)

4 ®

Question Number : 42 Question Id : 4928631002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

Match the following
List-1 List-1I
(a) Charles Darwin (1) Systema Naturae
(b) JohnRay (11)  Natural History
(¢) Buffon (111)  Historia Generalis plantarum
(d) Linnaeus (v)  The origin of species

808 TBY 2SBS0

e -1 e - 11
(@) @O0 &0 (1) DPHBrI WO
b) =573 (1) IWDES Yo
(€) worgdS (1) PO BI0OD Folrdan
(d) ©3Hod Iv) o &S

The correct answer 1s

00 O BaITeD

Options :

@ @® (@© @
e @ @ @ O

gcollegeduniaa
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(la) (b) (ﬁ) (gl)
Lo W) () (@) ()

@ (® ( (@
- (iv) (1) (u) (1)

@ ® © @
LW G G G

Question Number : 43 Question Id : 4928631003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Match the following
List-1 List-1I
(a) Asymmetry (1) Cnidaria
(b) Radial symmetry (11) Platyhelmenthes
(¢) Bilateral symmetry and Enterocoelom (111) Porifera
(d) Bilateral symmetry without body cavity (1v) Hemichordata

808 TEJ 28HE[od

e -1 e - 11
(@) &S0 (1) Qb
(b) &g rado (1) DETOHI
(€) &gy ;XS0 Hododw wog S0 (1) Do
(d) &g>rdy RS0 DO FOIHTE Eorddw (1v) rosglr

The correct answer 1s

00 0N 2"z

Options :

@ ® © @
e @ G (V) ()

collegedunia

—



(@ @® (o) (@
- (1) (@) () @av)

@ b (© (@
" (av) () (@) (1)

@ ® () (@
() (1) @av) (1)
4 ¢

Question Number : 44 Question Id : 4928631004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
The cells which form blood brain barrier in the central nervous system are

Bo b S5556° BoB TES' J Eevren G§S50-BE8d BSFTR) WSS FFEH%®

Options :
Oligo dendrocytes
sONBoIE &)

. 3
Astrocytes
9
Ependymal cells

Q_“ao@;’wé Seoren

Schwann cells
&55 Eeored

®

4,

Question Number : 45 Question Id : 4928631005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

Correct: 1 Wrong : 0



Statement (S) : The amphibian blood 1s composed of erythrocytes. leucocytes and
thrombocytes. The thrombocytes help in haemostasis.

Reason (R):  The haemostasis regulates the body temperature in poikilotherms.

Jgpg (S): SFoSTY J508° JPEETren, SudEirer 0w (ol P
Gotran. ([Tod Rty Sra) ©d8LE s (Taryel) &dyderow
s6m0 (R): g d90s* SarIdS B GAESSH ESS60ES

Which of the following is true?
& 808 TIS* B HSgH0?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
- (S) So8ain (R)Bodor S&ghn Hodasn (S) 8 (R) 86508 b8

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
- (S) 58030 (R)Todor 3500, 57 (S) 8 (R) S80S D8 500
2
(S) 1s true. but (R) 1s false
(S) d&gd0, 570 (R) eod8gdw
3 ¢
(S) 1s false. but (R) 1s true
(S) ed8gdn, 570 (R) d&gh0

4 ®

Question Number : 46 Question Id : 4928631006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Crab (1) Green glands
(b) Dugesia (11) Malpighian tubules
(¢) Wucherena (111) Renette glands
(d) Scolopendra (1v) Flame cells

808 TB 2EHEB0s

e -1 e - 11
(a) &8 (1) 588 Wodoen
(b) &oR™oS> (11) s’mé’)“)a‘.’.di;!o’ P80
() &wdoasr (111) 3 WKooen
(d) &) o (V) erqer Eegren

The correct answer 1s
08 oI aI"2

Options :

(@ M () (d)
L x @) () (v) Q)

@ @® (© (@
e D G @) @)
@ (® (© (@
L, @ ) @) (i)
@ @® (© (@
,x O G)  GiD) ()

Question Number : 47 Question Id : 4928631007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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India’s largest Student Review Platform

—



Match the following
List-1

(a) Chelonia

(b) Rhynchocephalia

(¢c) Crocodilia

(d) Squamata

E08 T8I 2EHEB08
e -1

(a) 85 Ao

(b) Bof O

(c) (§’s3oos

d) g

The correct answer 1s
Q8 oD 2T

Options :

@ G (o)
L x (O () ()

(@ () (o)
o (tv) (u1) (1)
(@ M (¢
(m) (1) (1)

3 &
@ (b (o)
3 (v) (1) (1)

4.

(d)
(1v)

(d)
(11)
(d)
(1v)

(d)
(1)

List-1I
(1) Alligator
(11) Chameleon
(111) Sphenodon
(tv) Testudo

rdar - 11
(1) edRLE
(1) 3dSre

(ili) yS@S

(V) BRE

Question Number : 48 Question Id : 4928631008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

Match the following
List-1 List-1I
(a) Each half of the lower jaw 1s formed by 6 bones (1) Aves
(b) Lacrimal and Harderian glands appeared for the first time (1) Reptiles
(c) Presence of only right systemic Arch (111) Amphibians
(d) Each half of the lower jaw 1s made of single bone (tv) Mammals

Bod TEI 2SDTD0d

e -1 e -11
(@) (Bob SIES'V B8 wPriin 6 JZNELE Iy (i) HEoen
() erESd Sobosn FPoohS oghen InEBFOM HESD (i) S85)dren
(€) %&3TE odHin Sr@dh E0ns (iii) ezostoren
(d) BobESs B8 vfwrrsin o I8 EOASD (iv) &8oren

The correct answer 1s

00 Lo 2Icen

Options :

(@ (b () (@
o i) () (1) (@)

@ ® () (@
W) @) G @)
@ @® ( @

o () @) Gv) (1)
@ @ © @

(i) (1) @v) (i)

4 &

Question Number : 49 Question Id : 4928631009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
o 5 -
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Correct : 1 Wrong : 0

Match the following
List-1 List-1I
Organism Number of Flagella
(a) Trypanosoma (1) Many
(b) Euglena (11) 2
(¢c) Giardia (111) 1
(d) Trnchonympha (1v) 8

§0d T8 BEHET0b

e - 1 e -11
2 §Tore dopg
(a) B3ISFSo (1) o338
(b) oSohia (1) 2
() =oSrgossr (111) 1
(d) B0 (1v) 8

The correct answer 1s

00 oN T2

Options :

@ ® © @
Lo i) Q) @ 6

@ ® © @
LW i) @ G 0

@ ® © @
L) O G @
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@ ® () @
(v) (1) () (m)
t

4.

Question Number : 50 Question Id : 4928631010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the flagellum is provided with two or more rows of lateral appendages and the axoneme
ends 1 a terminal naked filament. then 1t belongs to this type

@805 SoHI FE)R AT ET0 Todd ST wod8od 5P IDhdeS' &od, 0§
ﬁﬂ

SodY o

&3) @ody oYM wodHhdg §TEI5 ) HFowbw
Options :

Pantonematic

oLV EIS

Stichonematic
WEAIrEE
—

233

Pantacronematic

|, TS EErGE

w

Acronemartic
E' 57
S

Question Number : 51 Question Id : 4928631011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Statement (S) : Mechanical vector merely transfers the infective stage of a parasite.

Reason (R) : Inthis vector a part of development of parasite takes place before it gets
transferred to another host.

Jgps (S): GSro|@8 TTESL Bhodw HTHED FoEs S Sorers Rokoso
80 (R): & T8 IS JTHED DOE €I Lo oRS*Y §od @i)éﬁ&% Do

Which of the following 1s true?
& 1808 TAS' A DEgH0?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) H08cin (R)Todr d&gh0 odasn (S) 8 (R) 205308 D8
1 ®
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) o800 (R)Todr g0, 572 (S) 8 (R) 965308 Dd8en 57k
> R
(S) 1s true. but (R) 1s false
. (S) Ségdw, 570 (R) e9d8g0
3.
(S) 1s false. but (R) 1s true
(S) wd8gdn, 5°Q (R) Se&gdan

4 ®

Question Number : 52 Question Id : 4928631012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following:

List-1 List-1I
(a) Cytozoic parasite (1) Lives with m the cavities of hosts body
(b) Coelozoic parasite (11) Lives between the cells of the tissue and
organs of the host
(c) Histozoic parasite (111) Lives within the hosts cells
(d) Hyper parasite (iv) A parasite lives in/on the body of another
parasite

80 T8 2EHES0s

e -1 e - 11
(a) 5@‘06@ Q07N £ (1) »8Fow 68 LTroTos® LIJow
(b) ¢ o £ (i) Seozreros’ Swre &y 0o vdohare &y
L0
(€) Sozmre So°8) £ (111) ©@8Fon Sore S*He 2IJow
(d) o8 Soo8) &2 (iv) o8 ST°%) 2D S*B0/ S SEE Do) £ EDothHe:

The correct answer 1s

00 oS 2T

Options :

@ @® © @
(v) () (1) ()

1 ®

@ @ () (@
Lo @) (@) ) @)

@ ® (¢ (@
(1) () (@) (@av)
@ (® () (@
i (m) @v) (@) Q)
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Question Number : 53 Question Id : 4928631013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Identify sequence of stages in the Golgi cycle of plasmodium vivax.
a) Schizont

b) Amoeboid

¢) Trophozoite

d) Signet-ring

G003 TE) G¥8 WED0 (MYRUEIW)S® AT DG ¥ BOR0S SEHBESr

Options :

o ®

- aIp—o>rc—d
d-3C-—>5>a-5>b

4.“

Question Number : 54 Question Id : 4928631014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Cockroach has ‘superposition vision’. This type of vision has the following characteristic
features ‘EXCEPT

& 806 TUS* Q ofpdw 708 GBwE) JrIEILES HeN0LrAS HooBoAIE 57

gcollegeduniaa
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It generates a blurred 1mage

20 A 8D AWM
1 ®

2 %

The ommatidium receives light not only through its own comea but also from adjoining
ommatidia

P8I Eroddn HESLOIN Hod IS 5708 8ol THOT P8 S IEodY
PEJLO0 Dod IS 5708 SSeTrod §rr Haradrown

It produces Mosaic Vision

2D Jooerons E8D0r) W
3.

4 &
Superposition image 1s formed in the dim light and these 1mages are formed in
nocturnal insects

NP0 FEAN (WEDo20 ILH SEYIMT GIIYE oGNS SLzrods? DCSQCQ\J?&J

Question Number : 55 Question Id : 4928631015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In cockroach. if the sub-oesophageal ganglion is damaged. which part of the cockroach
1s affected?

ﬁ‘@oéé‘ &GS TE & P08 BDEFoNIS' @ riSn HOM IV

Options :

Abdomen

€ 8500
1. ®

Ommatidia

S| BT 0T 0
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Wings and legs

B en Ho050 TN
3 ¢

Reproductive organs

REENS VITBoT
4 ®

Question Number : 56 Question Id : 4928631016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Identify the correct statement with reference to the nervous system of the cockroach
a)  The nervous system of cockroach 1s called as Autonomous nervous system
b)  There are 3 thoracic and 6 abdominal ganglion

¢) Sub-oesophageal ganglion controls the movements of mouth parts
d) The 6™ abdominal ganglion innervates the 6® abdominal segment

ATl >& 3355‘{3& QOR0HONN VOGND TrgPFON BLOYIN

a) IATELS ) Sooderdy Sgoso S80S & ;’Jgsﬁg oY 5rE '335“&063363
b) 8 558" 3 SEddogoen H8csn 6 8T doghenodran
) of a5 s o8 08 F8rre EEdosH Joo@otid:

d 635 68858 508 635 &688Podards o JRBoSTasNS

The correct answer 1s
K’:G@o:& PRI

Options :

a.d&c

1.“

a.b&c
> of

b.c&d

3.2
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Question Number : 57 Question Id : 4928631017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an ecosystem each organism occupies a particular place and has a functional role and 1t

1s known as

a8 B30 SIS’ ©8 £ o8 PRF0S® AeroB BoirdE PSS BT

e
£

Ecotone
5106
5> % QRSE ™
Ecological Niche
L2060 AW
3 ¢
Ecological Pyranud
L3800 WEE

Question Number : 58 Question Id : 4928631018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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With reference to temperature adaptations. identify A. B. C of the following graph

adier oddroro sgrdom & 1§08 [Tadoth A, B oddin Codo Kogowdmn

- A
2 3 /
= 48 B
T v
E
WS Q;um
External level
Options :

A B
Regulators Partial regulators
IBos~ o0 FEEEosSo

1 ®
A B
Partial Regulators Regulators
FEE S5~ Soww (Elos~doen
> R
A B
Conformers Regulators
B IFISE Bosdoen
3 ¢
A B
Regulators Conformers
Blos o0 ©NITISEo e
4 ®

C

Conformers

©0IG I L e

&

Conformers

BT Lo en

C
Partial regulators

FEEE ST He0

L

Partial regulators
FEE BT e
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Question Number : 59 Question Id : 4928631019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The following equation describes the exponential growth of a population

Options
di N BN
dt K
1.
rN = an
dt
> o
N = ﬁ
- dN
I
~ dN K—-N
4 ®

Question Number : 60 Question Id : 4928631020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Villikinin (1) stimulates the secretion of HCI and pepsinogen
(b) Secretin (11) stimulates the secretions of H,O and HCO;~
(c) Gastrin (111) stimulates intestinal epitheliar movement to
increase nutrient absorption
(d) Cholecystokinin (1v) stimulates the secretion of pancreatic enzymes and
bile juice

§od FTE 2SBS0

e -1 e - 11
(@) 29335 (i) HCl 50050 BTes $dohes 8bom
(b) E8S (11) H,0 %8050 HCO; o0& 1HBotherds (@onothso
(©) mRS (i) DHS* Fisro Fhd (W0H0HH&
(d) §O/FIIS (Iv) &% JoBvew O EIEFQ) BA0TTA)
(2000080

The correct answer 1s

00 2o 2Jvew

Options :

@ @® © @
L ) ) @ @)

(@ () () (@
e (i11) (1) (1) ()
@ @® (¢ (@
- (iv) (1) (1) (1)

@ (b)) (¢ (@
L @ @ (i) Gw)
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Question Number : 61 Question Id : 4928631021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Partial pressures of O, and CO, in systemic vein carrying deoxygenated blood are

BERSS' BT SEEes® 0, H805H0 CO, v FEE biaes & om &0k
Options :

95 & 40 mm Hg

1_ﬁ

40 & 45 mm Hg
>

104 & 40 mm Hg

3 &

120 & 80 mm Hg

4. %

Question Number : 62 Question Id : 4928631022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (

When blood vessel is injured a number of physiological mechanisms are activated that
promote hemostasis. Identify the correct group from the following

2.8 SETEED moHRSYL I8 GG ohogromren TS dTdn ((FIrTRR) Fdo
BEIgH000. Bod TAS® A8 JBHIG

Options :
1 8

Vasoconstriction. imncrease in colloidal osmotic pressure. tissue fluid formation
EET 08 E50, FerondS (Bardddn adddn oL, Semre (550 o

Platelet plug formation. tissue fluid formation. lymphocytes action
sofe DT Kb, Snwre (BS50 L, doFRLELS

> &
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Vasoconstriction, platelet plug formation. production of web of fibrin protein

SE¢ D08’ SSw, Jusle HIT kb, POS PEHe So AW
3

4 %
Production of web of fibrin protein. plasma protein formation, tissue fluid formation
0% FES So Wb, TIYFES WL, Snmre BSS0 6K

Question Number : 63 Question Id : 4928631023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong :

Statement (S) : Urea-excreting animals require much less water than the ammonotelic
animals.

Reason(R) : Some amount of urea retained in the medullary fluid of kidneys help in the
maintenance of desired osmolarity.

Jgpg (S): Slard ol Q¥Powh LYew @33*&5‘65@5 BHOEI) SBOYS Q& @B5HElKD
580 (R): Dr@hoddne® $58° $55068° FRFE cddurdaird JeodBRER
B8 50V @?3*&@6&58 EHDSwosotron

Which of the following is true?
& 80d TAS* B DEgHN?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) 5080k (R)Todor Déghn Hodosn (S) 8 (R) $0308 ddden

Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) 508050 (R)Bodds QS L0, 5V (S) 8 (R) S80S DS8e0 570

2
(S) 1s true, but (R) 1s false

(S) v8g5m, 52 (R) 08550
3 %
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(S) 1s false. but (R) 1s true

" (S) eddgdn, 570 (R) S&gdw
4

Question Number : 64 Question Id : 4928631024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Match the following
List-1 List-1I
(a) Uric acid crystals in joints (1) Arthritis
(b) Inflammation of joints (11) Auto immuno disorder
(¢) Myasthenia gravis (111) Tetany
(d) Prolonged contraction of muscle (1v) Osteoporosis
(v) Gout
& 8086 & aséé'mdo‘j;iw
e - | e - 1l
(a) SgHodows chrdsdy By e (1) @5@&55\3
;‘Jdgdﬁoéa
b) 8¢ahods TS 8 (i) Hgoso EHISEE iy
(€) BooHpAcsr [ras (il) $SoomgSo
d) Eodd BosE BoFaren (i) SPRBrFEDS
(V) 78

The correct answer 1s
00 OV 23T°2N

Options :

@ @® () @
i v) @ @@

&
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@ ©® © @
L ® O G) )

@ @ () (@
L0 W v

@ (® («© (@
, W v (i) (@)

Question Number : 65 Question Id : 4928631025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong :

Statement (S) : Cerebrospinal fluid serves as shock absorbing medium

Reason (R) : Cerebrospinal fluid is recycled 4 times per day in order to clear out
metabolites and toxins

s (S): SHRY,RH (ESdw erdrgdrare Hod FioRdrdgdoon ST
580 (R): SR I |B5B50 @8 4 I YS:Bodo Bobadody oo £HEosr
GEHT) 0N IAVTTWw FolodudogTown

Which of the following is true?
& Bob TAS* B HEgBR?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) 508ci0 (R)Todor Seghn $o8asn (S) 8 (R) S830s D5eo
1. %
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) So80d0 (R)Todor 2500, 570 (S) 8 (R) 30508 D8 520
> ¢
(S) 1s true. but (R) 1s false

(S) H8g50, 5 (R) eddgsn
3 ®
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(S) 1s false. but (R) 1s true

(S) e58550, £ (R) Dz
4 &

Question Number : 66 Question Id : 4928631026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

In the following hormone response signal transduction pathway. recognize A and B

& 18od ST WUy adoEroniy) S Kra)dsas” o A odain B ol Mhfohdn

E

epinephrine JOI|W

\ adenylate

cyclase
&IOS VIS

ATP

w-—

protein kinase - A . protein kinase - A
PESEIE -A ESEIS - A

l

glycogen ——— glucose
a8"32S — FQ

.

Options :
A - Epmephrine Receptor. B - GTP
A -JL53@S oo, B - GTP
1 ®
A - Epinephrine receptor subunit. B - cAMP
A - DIPS rHEY 3505, B - cCAMP

> &

plasma membrane JJ7)S7T0
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A - G protein. B - cGMP
A-G@&3, B-cGMP

3.8

A - G Protem. B - cyclic AMP
il A-G@&S, B-Soch AMP

Question Number : 67 Question Id : 4928631027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Statement (S) : Natural killer cells form the body’s most important cells of defense and
they destroy the infected cells or altered self cells in an antibody

independent manner

Reason (R) : The reaction time of NK cells 1s fast as they are always in an active form
to 1dentify and destroy even small cancer cells well before they form a
fumor

TSP (S): D ods Seoren RS 88’ TS Sopgearen 0TS0 QD) JoBIE

5000k SrinBods vohsre QTS SeSoBREBTE AEES” YD
5820 (R): STRrodE e K8y Ifomr Sododn s 55 ooy Kogod
TEQ TESo TR Largdoben Trdvoa FEothd

Which of the following is true?
& 808 FAS® A8 HEgB0?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) So8cin (R)Todsr D& $00asn (S) 8 (R) 90808 Dhden
1 ®
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) So8ci0 (R)Bodor QEL00, 57 (S) 8 (R) S0B08 &8s 570
>
(S) 1s frue. but (R) 1s false

E (S) &g, 570 (R) e@ddgdn
3
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(S) 1s false. but (R) 1s true

N 4

- (S) wd&gdn, 570 (R) S&gd0

Question Number : 68 Question Id : 4928631028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

Which of the following produces testosterone?

Primordial germ cells

FPEI0E Dazgearen

1.8
Leydig cells

sl O&A Eegren
Prostrate gland

- % TSR0
Bulbourethral gland
RSN BES (fod

4 *

Question Number : 69 Question Id : 4928631029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Match the following

List-1
(a) LNG-20
(b) Sahel

(c) Amniocentesis
(d) Vaginal Ring

8o TEQ BSIEW0s

e - |
(a) LNG-20
(b) &

() eoEsnos
(d) Srddewcho

The correct answer 1s
00 o BT

Options :

@ @® (o)
L x ) () (1)

@ ® (o
@) Gi) (D)

@ (® (o)
- (m) (1) (1)
@ @ (o)
- (1) (m) (1)

(d)
(1v)

(d)
(1)
(d)
(1v)

(d)
(1v)

(1)

(1)
(iii)
(1v)

(i1)
(iii)
(iv)

List-1I

Oral contraceptive

Useful to detect genetic defects

Intra uterine device
Prevention of conception

da - 11

AGRTEE TEdrE

23035 e HZoHLS” &8I

ﬁazédis‘oéd FEHN0

gleylapely ISR Y

Question Number : 70 Question Id : 4928631030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Match the following

List-1 List-1I
(a) Holandric genes (1)  Plelotropy
(b) Multiple effects of a single gene (1)  Hypertrichosis
(¢) Skin colour in man (111) Multiple Alleles
(d) ABOBIloodtypes (v)  Polygenic mheritance

8§08 TG RSJTBob

e - | e - 11
(@) Ferodf adogHen (1) DB E™D
(D) o8 2305 88 Eam) S SyigsrTrodd (1) D6 @5‘?@5
Rerddo Tasod
(¢) SrSSEEY NGS5 (111) 2FVFSH)DE e
(d) ABOd&gSoen (V) advadgesoSolss

The correct answer 1s

00 oI 22w

Options :

@ ©® © @
L) G ) W)

@ ® @© @
v ) @) (i)
@ ® © @
L Gi) () G) ()
@ ® © @
i) @ Gv) (i)

4

Question Number : 71 Question Id : 4928631031 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

Chronic Myeloid Leukemia (CML). a type of blood cancer. is caused due to

508 Berond eog8hair (CML) o 85750 6 hbss s 8k
Options :
reciprocal translocation between chromosomes 9 and 22
9 50050 22 FErS SN e FT0SE SEHE Sy
1. ¥ "
chromosomal mversions between chromosomes 9 and 22
0 $08csn 22 Bl Swen doBodorhéy (inversion)
> ®
chromosomal translocations between 8 and 14
8 03w 14 FarSdwe Sody FT 088 rdyy S0
3 ®
trisomy
@ES"’S’JJ

4 ®

Question Number : 72 Question Id : 4928631032 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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Identify the sequence of steps in DNA finger printing.
a) Isolation of genomic DNA

b)  Separation by electrophoresis

¢) Denaturation of DNA

d) Hybrndization with probe

¢) Fragmenting DNA with restriction enzymes

f)  Southern Blotting

g) Exposure on film

DNA 2048 @odloh Bwg), S80S 8D BdrQ) Hgowodn
a) DNAX 3% Bosod
D) JOEITIS Tor I Bohdo
¢) DNAJeS d808
d @S '8 TOBRIS
e) 8@%5 Jozwews” DNA »odESe
f) SE6S5 ok
g) I D6 ©8DoDoHL
Options :

a—>b—o>c—o>doeosfog

1. %

a—e—o>b-oc-of-odog

2

a—>c—oboe—odofog
3 %

a—se—oc—ob-of-odog
4 *®

Question Number : 73 Question Id : 4928631033 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Statement (S) : Less than 2% of the human genome encodes for functional units called
‘proteins’
Reason (R) : Majority of the human genome is regulatory in nature

Fgpg (S): IS &S0 Iwdgo adgHoS” 2% S S5)I 2dogen @Séﬁézﬁo
OSSRy RO

s¥0 (R): S TG NN FrASomr BIHWILHT ok

Which of the following is true?
& 808 TIS* A8 DBgE0?
Options :
Both (S) and (R) are true and (R) 1s the correct explanation of (S)
(S) S08ciw (R)Bodr ddgd0 H$080d0 (S) 8 (R) 30508 J58e0
1 ®
Both (S) and (R) are true. but (R) 1s not the correct explanation of (S)
(S) So8cin (R)Todsr S&gi0, 570 (S)§ (R) 00508 D580 5780
> R
(S) 1s true. but (R) 1s false
> (S) d8gd0, 57 (R) wdégdn
3
(S) 1s false. but (R) 1s true
(S) wd&gdn, 570 (R) S&gh0

4 ®

Question Number : 74 Question Id : 4928631034 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

Theory of Biogenesis was proposed by

RAFBIVD VT oS WOFHONS FIIE

-

Options :
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—



George Cuvier

aa"fsg o008
g =

Louis Pasteur

[SerTove) &%5
o> o

J.B.S. Haldane
JB.S. t’.ﬁ@&

3 &

Von Helmont

. T TOIT0E

Question Number : 75 Question Id : 4928631035 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong : (

Who 1s the ‘Cro-Magnon man’ ?

@“é:»ﬁ); AP AT VIR
Options :
Homo erectus
T3 JOED
1 % =
Homo sapiens
FFIArP VDD
2. '

Homo neaderthalensis

FFIrISTOEE TOY®

3 ®

-
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Homo habilis

T FEDOD
4 &

Question Number : 76 Question Id : 4928631036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Seymouria represents the evolutionary biological link between the following organisms

£

$HBerSodsomr “PIardalr”  £he Ho¢5 SoTTHHIT NG G
Options :
fishes and amphibians

e I 080w &FodSoren

amphibians and reptiles
GFoDToTer Sodain SOy Tew
>

reptiles and birds
SOB)T e Hobosn Hven

reptiles and mammals

20Byren Dododn §dmren

Question Number : 77 Question Id : 4928631037 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Surrogate mother is

2orongd (Surrogate mother) edm
Options :

The female that develops the offspring of another one in its womb.

gcollegeduniaa
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The male that donates the sperm to fertilize an egg
2§ ©om ) PodEbno ahHYLEH HEETOR NS YHITS

The female that donates the egg for fertilization

©0dHobEit &5 vomd) Tdin TS «©

Introduction of invitro fertilized ovum into the same female

TrgRotsin Sol Ddﬂ)&é 20T OB L‘_Eg ﬁcr;%oﬁos’)w@""g)é 280 Dodwd

Question Number : 78 Question Id : 4928631038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Fungal disease affecting poutry 1s

550 DoEoo 300 T3H B
Options :

Gumboro
1 % ﬁuaﬂ“"ﬁ‘

Brooders pneumonia
o @E0) SogITAoss
Infectious coryza
20 P8O0 Ve
3 % . =
Ranikhet
o°JBES

4 %

Question Number : 79 Question Id : 4928631039 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Match the following

List-1 List-1I
(a) First clinical gene Therapy (1) DNA Amplification
(b) Transfection (11) Introduction of genetically modified
DNA mto a Eukaryotic cell
(¢) Synthetic oligode oxynucleosides (111) Adenosine deaminase
(d PCR (1v) Silencing genes

8o B 2858508

e - 1 e - I
(@) (@8 2oy D8) (1) DNA &groed8dea0
(b) Eryds (11) 230857818 BoboNS DNA S da8oss

Ee0065'R (DIBoDTWaAB0
(€) 20388 sdF'd v§iridirng) (iii) JASTDS BAIE
(d) PCR (V) 208 Q¥é

The correct answer is
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Options :
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Question Number : 80 Question Id : 4928631040 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Match the following
List-1 List-1I

(a) Ovapnm (1) Anticancer drug

(b) o —I1-antitrypsin (1) Used m the treatment of inflammation and
superficial burns

(¢) Taxod (111) Inactivated exotoxin used as vaccine against
tetanus

(d) Propolis (iv) Used in the treatment of emphysema

(v) Used n induced breeding of fish

Bod T8I 2SJ5B0s

e - | Hae - 11
(a) o™ (1) oSrolisrHd Tado (drug)
(b) o —1- cSrolEoye (11) 598 &I Mmoirody, THoso
EHBFATE
() é&rsyond (111) BErSS TOIT TS GSIorhowd

Ny, oS8 g AR T RG0
d @208 (Iv) QoRSr DEHH &IRrAOTES
(V) [do 8D pordofids GHRTAoHIS

The correct answer 1s
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Match the following entries related to fundamental forces and their manifestations

(a) Nuclear force (1) Electromagnetic interaction

(b) Force between sodium and (11) Gravitational interaction
chlorine 1ons i sodum chloride

(¢) Energy from the sun (111) Strong interaction

(d) Oscillations of a simple pendulum (tv) Weak mteraction

TS werew, I°8 P08 8o Jo200NN 1od BoTODN 2EJGTos

(a) Sos oo (1) doghaharn oscd Hdg

(b) =F&cdo §BES™D (1) HSé&radh Hg
OO0, 585 LAY Fg 20

(€) Brdgd Sood ¥8 (1) Do B3

(d) odns’vso BwE) GoTrw (Iv) 2eowrd $8g

The correct answer 1s

00 Lo 272D

Options :
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Question Number : 82 Question Id : 4928631042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The length and diameter of a cylinder are measured to be 10.1031 cm and 2.0935 cm
respectively. The volume of the cylinder to an appropriate significant figures 1s

2.8 JFRd0 BwE), DAY, TgRdw SERVM 10.1031 cm 508050 2.0935 cm @ §O0I ..

LoNd, S P8 Sopge I SO SrHo B0E), WSHBSr0

Options :

139.04 cm?

34.76 cm?
> o

134.75 cm?

., 4635 c®

Question Number : 83 Question Id : 4928631043 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
A fly 1s 1 rectilinear motion as described by the graph. The average speed of the fly 1s

Bod QI (MY oA &8 S SPoD Bodod® God. wond &if Bws), Sk &

v
(m/sec)

= - )
E
- L

4

Lhn

gcollegeduniaa

el



Options :

% J‘f‘
w 6.75 m/s

7.25 mV/s
. &

10.15 mv/s

3_%

4.75 mv/s

Question Number : 84 Question Id : 4928631044 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A man of height 7.33 ft releases a stone from the slingshot just above his head. If the stone
travels in a vertical direction towards the sky with velocity of 10 ms™. then the time it
takes to reach the ground is (Assume acceleration due to gravity g = 10 ms=)

Q8 7.33 ft Ko 2.8 0%, 85 &
DX, & oo, ALY HIS' vsFoY 10 ms™ Mo HoSrd N, & Trow P

DEIT IS SEI o0, (f‘bo’aéﬁ Se8ea0

o 0d HBK (slingshot) o 2.8 Trod dde

g =10 ms? o8 0d)

Options :

16s
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A 90 N mass 1s hung on a rope tied between two poles as shown in the figure. The tension
T, and T, in the two parts of the rope are (in N)

D80S” Hrddorr, Sod Pomre g DANS iR 90 N o (BS50°30 Jerddz .
&% BwE), Sod rreod’ GO3 $5¢8 T, 500050 T, denden 03 N o&*

90 N

Options :

180 /6 180

B+l 2 74341
1. v

90 /6 180

\E-i-l 2 3
> &R

180 V3 90

a4l 2 "3+l
3 ®

90 3 90

Bl 2 ' 3
%
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Object 4 moves uniformly with a constant speed v to reach object B. while B in turn moves
rectilinearly with a uniform velocity of « < v. At the mitial moment v 1s perpendicular to
u and the positions are separated by a distance /. The object 4 meets the object B at time 7.
The value of 7" 1s

5509 A, 55039 B BHE SR8 6 56 vE DEBET 505008, 198 BEhoborr, DE66

o

S0 U<V FONH. 89 Ewo S8 V, U8 0020 wotnod. T8 PIe [ QoS
STON. SNY 4, SN B 15700 & EeooFotnod. o8 e

Options :
vl

2
(=)
®

ul

1.

v/

2 2
4 B

Question Number : 87 Question Id : 4928631047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

A rock of mass m 1s thrown at an angle o with respect to the horizontal. Assume the
acceleration due to gravity 1s g and that the motion of the rock 1s in the Y-Z plane. The
component of the angular momentum at time ‘7 * i the X-direction 1s

BS30°3 m o 30D, §82 J5r08E A8 0800 Totom V0T, Hd; diboo g
@8, 30 Sodo Y-Z80os® ¢odis’od. vand X-04e" 1 seo0 $¢ S ($5g31K0
0E). VOFO
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Question Number : 88 Question Id : 4928631048 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

A block of 10 kg 1s shiding at an mitial velocity of 5 nv/s along the horizontal surface to the
right. The surface has a coefficient of kinetic friction 0.3. The distance to which the block
will slide before coming to rest 1s

(Assume g = 10 m/s?)

10 kg He &33& SO0 S M/s &, 882 DSr088 oo Job &é@@@ 2THE0H. & ok
0.3 &z Hodeo eefo &0B. & &30) VoL 8s BHEI S ©d 20 Srdo,

(g =10 m/s? o8 0d)

Options :
| ¢ 42m

5.6m

23‘:

3.8m

48 m
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If a spring of spring constant 200 N/m 1s compressed by 5 cm. then the energy stored in the
Spring 1s

@y Borogo 200 N/m Heo @yorhd 5 cm Sondgsss SHBR, @yorke’ doddsoddog

v
4

Question Number : 90 Question Id : 4928631050 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The potential energy function for a two dimensional force is given by U = 3x*y — 7x. The
force that acts at the point (x. y) 1s

(Take ; and‘j' as unit vectors along X-and Y-axes)

BIEH 2erd8 P8I Poaird) U=3xy - Tx B ordlR, Do (x.y) S& ST
Q0

(; %0808 | o0 X-50050 Y-u5e ddom Sdfeom S8 80b0)

Options :
(—9x2'v + 7):’ + (-3x3 ) Jj
1. ¢

" (—9x2_1'+7)
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(9.1:'2_1'+ 7)r?+(3x3) '

4.ﬂ

Question Number : 91 Question Id : 4928631051 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A uniform disc of radius R 1s spinned to an angular velocity @_and then carefully placed on

a horizontal surface. If pressure exerted by the disc on surface 1s regarded as uniform and
the coefficient of friction is equal to k. the rotation of the disc will come to a stop in time

t. The value of 7 1s

TgrGI0 R e o8 2808 DehHo, Fedch o @, STt ud) (@howo Bowod, s

T g 8§82 S5rodd w0 GoATH. oo © AY Iw 2850 JEbem

GoLoEIE, Hodes He¥o kK J5rSHodod, ) Fhmo [50os”® shdFdéod.

&c&jéa Q0N

Options :
Raw,
kg

1 -
3Rw,
4k

2. v ?
3
'4—'(00

3 % g
.3R 0
4k °

4 -
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A hollow sphere of radius R 1s suspended from a thin rod. If the sphere 1s twisted by a small
angle about the wire axis and released. simple harmonic oscillation (SHM) will ensure
with a period of t,. Now. if the hollow sphere is replaced by a solid sphere of radius and
mass equal to that of hollow sphere. the SHM will have a period t,. The ratio of time
periods (t,/t,) 1S

TS0 R e w8 g Fed) Heosd 58 $000 IrdbdTd. s o), 84 ego Jok,
a8 oy o T(o" DDO8Y) 80 I, 8IES sreo T, 8 I8¢ TodE Fosw
QA EEan. YW, & Do Ko TROT", TR Tgrgo, (BT DArIIN IN T°)

@008, 8¢ Tord)f FoTI8 G408 8IS Fe0 T, 0HB008. BYHH ©IES T
A8 (T,/T,)

Options :

|\J|'J‘I. Wlm

W |

3

i
®
G

Question Number : 93 Question Id : 4928631053 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

Two clocks 4 and B are synchronized to show the same time on earth. Clock A4 is based on
oscillations of spring and clock B is based on a pendulum motion. If these two clocks are
taken to the surface of the moon. then

Bod H&asroren A 00050 B e, 2 8 o8 5erQ) Srdod ddorr JE5 08800
Do, J&csr8o A 938 ﬁbgoﬁs FoTro 8Fddddod, Kaardo B @38 Stedo
FOS0R B8FII08. & Tod HBoirTol, Hohd Swons SlsE
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Options :

B will run faster than A
Be3dd Ago8 SKomr STN0H

1 ®

B slows down compared to A
B. A%08 350)8m SATK08

> of

Both will show same time and run at equal rates

Sodr &B5er) Srdde, DHrS0L0eS” HATFoN

3 ®

A will stop working however B will continue to show time

A 33700 siFdod, B serd) Srddn W00 S0l

4 #

Question Number : 94 Question Id : 4928631054 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

A satellite 1s launched to a distance » from the centre of the earth to have a circular orbit
around the earth. Its orbital velocity to maintain this orbit s (mass of the earth as M)

o8 Y85 GIHIFR), grioo Sood rErFod®, gran Sibap HEEd ¥’ 80RLT
RRTACDTR. ©d & S§0°S Godas, sedons Egrgao, (Frd (55073 M)

Options :

M
2
\/ ;

1 ®
| [GM
2
> % T
GM,
2r
3. %
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Question Number : 95 Question Id : 4928631055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bar 1s made up of material whose Young's modulus is E£. Poisson’s ratio i and 1s subjected

AV
to hydrostatic pressure p. The fractional change in 1ts volume (7) 15

ool he¥o E, Folers NG U Ao Smrdod’ Dobads ol Sodod \$5H88 bddo

AV
PH SR BITH. T Ho305r008° D18 Sy [I_f) Q0D

E
1. ¢
+3—p(1+ 241)
g ®
1
B, T
P
3 ®
+3puE
4. w
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One ton stone is put on a larger piston of diameter 40 cm of a hydraulic lift and a
pressure P has to be applied on the smaller piston of diameter 2 cm, to lift the stone. The
pressure P. 1s approximately

w8 @O 9 RBog), 40 cm Tgdo &) wf DERS VYL NS wf L&) TPowd
GoDIT. 2 cm Jrgdo Ao AHBS HPS DS, 8 0o IEFTAE, addo P &

505805 BoNIOD S8, & adSo P dend drddm

Options :

2 atm

1. %

0.2 atm
*

., » l.2am

il 0.8 atm

Question Number : 97 Question Id : 4928631057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

A body cools from 80 °C to 50 °C after a tune interval Az. Assuming that the surrounding
temperature 1s 20 °C, the temperature of the body after time interval of 2 Az is

o 556 Af 658 58339 80 °C Sood 50 °C & 380880 Frodoeod. Hodo e
SRS 20 °C 08, 30 ld 2 At SSHT8 S0H TS Jeod

Options :

30 °C

1. ®

5§ 40°C

25 9

4“3 B
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Question Number : 98 Question Id : 4928631058 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Consider a ball of mass 100 g attached to one end of a spring (A= 800 N/m) and immersed

in 0.5 kg water. Assume the complete system 1s in thermal equilibrium. The spring is now
stretched to 20 cm and the mass 1s released so that it vibrates up and down. Estimate the
change in temperature of water before the vibrations stop.

(Specific heat of the material of the ball =400 J/kg K
Specific heat of water = 4200 J/kg K)

B5go78 100 g o 208, k=800 N/mio @yoib Buo¥), o8 5% $adod, 0.5kg 08&°
S00ATR. & Indo HHIY Gy VNTRES” wodFod. & Pohd 2%y 20 cm
OB FNHED, (855073 (208) D8, 08 BoRoTLLIT T'AA S8 & Soddo eshF SIS,
I8 SAESSD Sy B808Bw.

(208 Sorg d3FHo =400 JkgK

N8 D3FRo =4200 Jkg K)

Options :

8.2x10#K

l.ﬂ

6.4 <1072 K

2.“

7.5x 103K
3 ¢

5.9 x10°K

4 #®

Question Number : 99 Question Id : 4928631059 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two carnot engines 4 and B are connected in series in such a way that the work outputs are
equal when the temperatures of hot and cold reservoirs of A are 800 Kand 7. and of engine
B are T and 300 K. respectively. Then the temperature 7 1s

Sody sSYohoEren 4 0w B o, T8 ) een)dden ISrSSohdinmr FhS°
sfobomso I, 4 B, 38, Sod sickre Grses S55m 800 K 508050
I'srr, BAwE), eiideos T 5008a5n 300 Kwowo eamon. afifid T dend
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Options :

. 400K

450 K

.

500 K

3%

, o 50K

Question Number : 100 Question Id : 4928631060 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a kilo mole of methane gas weighs 16 kg. the density of methane at 20°C and 5 atm
pressure 1s
(Use R = 8314 J/k mol-K)

2.8 8° IS WPS TS0 2P 16 kg wond, 20°C So8csn 5 atm o 58 WS
Fosg (R =8314 J/k mol-K 80é&)

Options :

3.3 x 10~ kg/m’
1 kg/m’

Question Number : 101 Question Id : 4928631061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A standing wave pattern can be represented by an equation like

w8 Q8 SBoll Fgrt) & Bod JPorr GoB DEG0S’ JrNoWSW)
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Options :

1_1'(.\'.?):2Asin(k:r—(or)

1 ®

y(x.7)=Asin(kx—ax ) + Acos(kx —cr)
2. %

v(x.1)= Asinkxcos ax
3. ¢

v(x.1) = Asin(kx+ @r )+ Acos(kx—ax)
4 ®

Question Number : 102 Question Id : 4928631062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

A diver. 30 m below water surface is trying to shine a torch light towards the point O which
1s horizontally 30 m away. The amount and direction in which diver has to swim (in the
figure) so that the light can not travel outside the surface of water 1s

(Refractive mndex of water= i)

—

N8 X088 30 M BHNIS &) 8 HSmED, §82 JSdroddor 30 m Srdost &)
Doty ‘O 3 &r§) 5708 B50BRT Hoh)RTNKL. & 5708, GH08 I8 by
RR00WB0T FoBErI8 SEME JoBETE0, IBFS® HEIBK?

(D8 S8LSS f‘bsaéu:%)
O ;
” A
’ 1 30m
7 1
p o S —
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4 m to the left

Q0% 4m
1 ¢

4 m to the right
068 4m

3.5 m to the right
o088 3.5m

3.5 m to the left
JE0% 3.5m

Question Number : 103 Question Id : 4928631063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

A beaker contains oil upto a height of 28 mm and water upto height of 26 mm. Find the
apparent shift in position of the bottom of the beaker when viewed from the top

, 15
(B =133.n

n=14)

28 DEGH 28 mm Iy SEH Seodwlo, 26 MM K S AL FOA God. D ol

DEoDSH B, HED edoibzrio RN EQ00T SFgiord DT D0,
(ny4=1.33, nz..=1.4)

Options :

| x >4mm

32 mm
28 mm

14 mm
4
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Question Number : 104 Question Id : 4928631064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In Young’s double slit experiment. two slits are made apart at 3 nun and the screen is placed
50 cm away. The fringe width when light of frequency 5+10 Hz used is

(Given ¢ = 3%10% nv/s)

cofi zody WO |PABroS’, ot Wodfw Jdo 3 mm s 385 50 cm o Srdods?
SOoNTH. PIINgo 5x10'* Hz e 5708 AP ;‘Jd‘b&i w% Seny,

(¢ =3x10% m/s)

Options :

- 0.36 ©* 10%m
).

1 x 10%m

2

2.77 x 10%m

33@

1 x 10~m

4 *®
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Point charges +q and —q are located at the vertices of a square with diagonals 2/ as shown
in the figure. The magnitude of the electric field strength at a point. located symmetrically
with respect to the vertices of the square at a distance ‘x” from 1ts center 1s

S06° SrbSLom, dETer 2 fo uf SEHOBY e ¢ Dok sITer +q 508050
—q O GoAT. T Soo Hod X SrBo 28, IR T OB oo, 30
&) o8 Dot 3G Dogs ¥ J&cH D0HT0

A @™ === - —————— = - o1
qli\ R q
LS #
1 . /. I
I e ’ I
* i
I N ’ I
1 » ’ |
,
I 8 2 I
I \ ’ 1
L. Fa
1 ,!t |
bt
| ol |
' LY
! \ - 2 |
s bt
1 ’ L i
Fa b
[ 2 i I
| / .\ I
’ Y
b a: o
I » + |
Options :
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Question Number : 106 Question Id : 4928631066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
At a certain moment. the switch shown n the figure 1s disconnected. The energy of the
oscillations immediately after the switch “S™ 1s disconnected and at time 0.1 sec from the
time switch 1s disconnected are. respectively

o8 DPR §0 IG, HLoS* Wrdd BpS ST K BEDT. SK BEDS Jobd, S8k
20l BEDS 0.1 DEDHL Shard 6B SoTro ¥8 Denden SEImM,
d
o 10
' g — 100 mH
9 Q 10 uF
Options :
2mJ.0.74mJ
1 ¢
4mJ.1.48mlJ
- “
4mJ.0.74ml
3 =
2mJ.024mlJ
4 %
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A DC source with internal resistance R_ is connected to circuit as shown in the figure. The

value of R for which the power generated in the circuit 1s the maximum is

S&o0es® SrRdionr, wodd LSl Rﬂrif:: 2,8 DC 2I5°Q) JOSTrIE EOVT . Seodhoes®

e &$Boddy FHgghn HOQJDLE R dood

2R

MW

R 3R
g AW + WW AWV
R 2R
W —

? |

| | AWW :

RD |

Options :

16

i3
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The current passing through the AB branch of the circuit shown in the figure 1s

il

200" Wrad Sooho AW AB p T(0° RITT0E0 QWS RITGTE0

7 =
Optiﬂn_s:
10,
- 47
1 P9
LY
17
2.
15,
AT 17
6
17
4 ®
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A steady current 7 flows down a long rod of radius ‘@’ in such a way that its current density

J = krr*i . where kis a positive constant of appropriate dimensions. ‘7 is the radial distance
from the axis and 7 is the unit vector along the radial direction. Then the magnitude of the

magnetic field at any point » (» < @) mside the rod is

%8 PUID é% (a}"*geﬁ*go ‘a’ fod) Job wE Qs ISgEVTI0 I ASHE T Fod

J = k*F soBbinm B35dod. 28,8, k o38 SA5 Dden Ko s Joroko,
redd oo S00d BHAHS Srdo Ho8a5w TS HIS® Hirm H6F vawd, G5 e,

BT Do&P 1 (r<a) 5 ©chHIn o8 & H0Sr00

Options :
u, Ir
2
a

2

M1~

2ma
4
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Consider a negatively charged particle moving with a velocity v in a magnetic field B
applied perpendicular to the plane of the paper (into the paper). The particle follows the
path A or B or C or D (shown in the figure)

RS S8 oo (RG0S HO8) b8 odBRVS wodhn o8 Fgo BE', w8 wnerdag
$00 V K08 $O0080 @808, Host IrdS o & Emo ©HHdod Hdo
A8z Baox C8x D Hdothdmw

®
\
=

Options :

PathA
wdo A

PathB
w&o B

Path C

H&So C
3

PathD
ago D

Question Number : 111 Question Id : 4928631071 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The magnitude and direction of a force vector acting on a unit length of thin wire carrying
a current / at point ‘O, 1if the wire has a semicircular shape of radius R as shown in the
figure.

SHEL BLoS* Hrdd uvdo, Rargardsnddn ¢S)tiond, Doty ‘0O’ 34, 135535653‘;}1&’3*@
$OA &) S5 88 BooE), I5°08 FEID I DA pOILT BwE), H0H8r00
O &F

I
¥
- _ 3
O Rr i i
Options :
ﬂafz( :
.
.o 1B
il
w 2 )
pI% (-
4;R(_])
3 %
R
2R (=)
4 ®
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Consider two coils of radii 7, and r,. placed at a distance ‘d” away as shown in the figure.
Assuming the length of the CDll‘S L. I >> d with n, n, the number of turns per unit length
of the two coils respectively. the nlurual mductance of the two coils 1s

TEFTe 7 0TI 7, o0 Ko Bod IZT0H Grdo d Adom SLINS® Brad o
S oI K. 3@5*@: FEJe0 1. [, >> dsm 5008 PEIH o0& Sopgen ny. 1, SOOI

SoNd & Vo 3@5"&:

— >

?'l I ; :

@I’y (g0

- a

— h—
Options :

e .2
Hymn, wrl
1 %

H,mn,wrrki,

2. % d

| 2
H n, Zn L,

Question Number : 113 Question Id : 4928631073 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A series LCR circuit with R =43 Q and L = 0.5 H has a leading phase angle of 45° at a
frequency of 50 Hz. The capacitance used in the circuit 1s

R=43 Q 58050 L=05 H& 2% @3 LCR Secdo, Fde)Ngo 50 Hzécg, DO
G380 45° 594 ﬁ@&. &S J00N0S" TGS STVDR) DD

Options :
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Question Number : 114 Question Id : 4928631074 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The permeability of a medium whose refractive index i1s 1.5 and permittivity 1is
443 < 107" F/m is

SHEESS roee¥o 1.5 H080sw H0B308 443 X 107 FmKe 8 oS8 00008 Jend

Options :

1.26 x 10° H/'m
0.26 *x 10° H/m

0.56 x 10° H/'m
3

0.86 x 10~ H/m
4 ®

Question Number : 115 Question Id : 4928631075 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

1 uW of light at 600 nm falls on a metal whose work function is 2 €V. The maximum
number of electrons that can come out of the metal is

D Pdofo 2 eV e w8 So, 600 nm Ko 1 pWe 5708 H8850 Fododod. wond

S0 00D DoHLB I3 Jogdo #83 dopg
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Options :

3.0 x 1012
1. ¢

5.5 x 101
2. %

2.5 % 10"
3 #_

0 x 1019
4 -

Question Number : 116 Question Id : 4928631076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

A stream of electrons accelerated by a potential difference /falls on the surface of a metal

whose mner potential 1s ¥, = 15 V. Then the refractive index of the metal for the electrons
accelerated by a potential difference of V=150 V'is

FBAHE Ba VS &880 Bohnds of JOES &6, ©oss FBAHS V,= 15 Ve
S GI0800 DS, vowd, FBYCHS 8w V=150 V'S &ddo Bobq JOFDOL,
e S*5Y JBFSS Hoeedo

Options :

s o 1.05

Question Number : 117 Question Id : 4928631077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong : 0
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A hypothetical radioactive element has a half-life of 20 years. The time it takes for 80% of
the substance to decay 1s

(In5=1.6.In2=0.7)

2.8 D0 é@gé"&&cﬁr:ﬁ’@gé Soroso ©fEdd soo 20 JoddTren. & Sado 80% Sabhrbio
ogee
(In5=1.6.In2=0.7)

Options :

30.6 years
30.6 Sodg\oren

45.7 years

45.7 2603".:-@;]0*@.}

60.3

60.3 BoSSomen

'-r:‘,

80 years
80 Sodsdyoren

Question Number : 118 Question Id : 4928631078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Determine the current passing through the diode D, in the circuit given. Assume these are

Silicon diodes.

2S S0cos™W BRrE D, mo0 (355708 DEog &It

SArhoR @8 0k.

D,

>

5 e ——

Options :

4.2mA

8.8mA

7.8 mA

9.7mA

o’.‘igu}.‘:uﬁo&u. QD VOB

Question Number : 119 Question Id : 4928631079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Two p-n photodiodes are fabricated from semiconductors with band gap of 2.8 eV and
2.6 eV, respectively.

5 PP SHdm 2.8 eV Sodadn 2.6 eV Ko ofTTsod Tod p-N YL ERTreOWD
V80T .

Choose the correct statement from the following.
Bod 78S 00 JBRR VST Jowsodk.
Options :

Both diodes will detect 460 nm light

Jo &ABr&en 460 nm 5708 KH8;aw
1. ®

First one will detect 460 nm light

. F0B8& 460 N 5708 D80S
2.

Second one will detect 460 nm light

Sodsd 460 nn 57080 N80
3.V

Both of them will not detect 460 nm light

Bodr Sra 460 N 508 KHB0USY
4 &

Question Number : 120 Question Id : 4928631080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the maximum and mmimum values of an amplitude modulated signals are respectively
5.9 Vand 1.2 V. the modulation index of the signal 1s

FOd HOE 5&?&353&5 oD Dosso cf.b.)éb ﬁ&fg, BN denden S&{(m 5.9V 508050
1.2 Veond, $0880 Go¥), SrdogBia &od

o

Options :
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Question Number : 121 Question Id : 4928631081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The radius (in pm) of the 3% orbit of He™ is Li*" is respectively

He™ Sobosoo Li** 35 885 argrgo (pm oe®) S

Options :

| 476.1.158.7

5 o 238.05 . 158.7
0.529 , 1763

2w

wd

ol
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17.63 , 1763

4 ®

Question Number : 122 Question Id : 4928631082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: (0

The wavelength. (in nm) of an electron moving with a velocity of 812 m s
(mass of electron =9.1+10-! kg and Plank's constant = 6.626x107* Js) is approximately

812 m 57! 3KoS® $00T JogR SSoiBggo (MM o) Ldrdmr

(DoES B5508 = 9.1x103! kg 500080 Fof porosn = 6.626x10-34 Js)

Options :

626

Question Number : 123 Question Id : 4928631083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : (

Which of the following elements has the largest atomic radius?

§o8 Soroseds’ B w8dE Joirn TgFrgHa0tnod?

Options :

Pm

l.ﬁ
> % Sm

En
3 ¢

-

el
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Question Number : 124 Question Id : 4928631084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the following statement 1s not correct?

§08 DHEPOS’ G JHOFSE §°¢50?

Options :

It 1s difficult to separate the mixture of Lanthanides
rodIbe DEFSrY) I Dodnd EHEw
1 =
The size of Zr 1s nearly equal to Hf
Zr Do Hf Do oo dHil S50S550

> R

The basic character increases from Ce to Lu

Ce dood Luse 576 §80 s
3. v 3

Lanthanide contraction 1s more significant than actinide contraction
s838 HoF' S50 EoB rodIE HoFEIN KNS DTELS Kod

4 &

Question Number : 125 Question Id : 4928631085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Bond lengths (in pm) of C —H.C —C.C =C and C =C bonds. respectively are

C-H.C-C,C=C %0an C=C nogre 2083ugen (pmos) S&ibH

Options :

|« 120,133, 154. 107

107, 120, 133, 154

> *®
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107, 154, 133, 120
3.V

120. 107, 154, 133

4_5’%

Question Number : 126 Question Id : 4928631086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Identify the set of species having same bond order

QAFN VOP BRI Ho o MHBoHN

Options :
B, . N, . 05
1 “
+
N, > » F,
2. %
;I
i -l O - 8
3.V ‘ B
2—- : 3
o .B .N
4 % .

Question Number : 127 Question Id : 4928631087 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Which one of the following plots 1s correct for the behaviour of 1deal and real gases?

B88) H005N VRTENPO (HIEIR Bo20H0N 1Bod (TROS® A& HOFHE?

i

Options :

[ ]
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4 ¢

3 e
» 273.15K

T 2

He
CO

ideal gas

PV

ideal gas

real gas
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Question Number : 128 Question Id : 4928631088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A 10 Iitre cylinder contains equal volumes of H, and He. If the mixture 1s allowed to diffuse
from an opening. estimate the percent composition of the output gas.

(Assume 1deal behaviour of gas mixture)

10 L33R0S" 338 0d308Sreotio H, 08an He 08" Qo0& 558, & EFodn o8
So@dn a°o° Tgdd0 BobB 2oobsHy IMS TrBn SododdSns B otod.
(TroSnEFHHn sdGHTABNIHT HI80dH0Fod)

Options :

50% H, . 50% He

l.ﬁ

. 41%H, . 59% He
2

59% H, . 41% He
3 e

_ 30%H, . 70% He

Question Number : 129 Question Id : 4928631089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Conversion of molecular oxygen to ozone takes place only to the extent of 15%. Calculate
the mass (in g) of ozone that is formed from 67.2 L of oxygen at STP.

w0 s§iue, LI 15% 65 Sogd Sr0)8 adihsod. STP 3§ 67.2 L es§es
008 G LR ($530°% (g 0s%) J B ool

Options :

96

1 ®

64.1

14.4
3. v
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Question Number : 130 Question Id : 4928631090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

A fuel cell generates electricity by using methanol as the fuel and O, as the oxidant. Calculate
the equivalent weight of methanol.

08 ROGH BobaH, WESTEH RoFEHVK 50050 0, 6EEEBK GIRATACD Dgd
&G Bodo. NEST'S dergod o) B§) omodw

Options :

16.0

1 ®

8.0

232

6.4

G 5.35%

Question Number : 131 Question Id : 4928631091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
2 moles of an monoatomic ideal gas at 25 °C heated reversibly at constant pressure of

3

2 atm to a final temperature of 125 °C. Calculate the AH (C .= ;R)

DELESS0 2 atm 5§ 2 IrSe uf sEHTENYD 25 °C H00s 125 °C &), Soedaon

v

38 33, AH [c .

o | W

R) 5o B, 0B

Options :

500 R
1. ¢
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2.

250 R
3 8

—-250R
4 ®

Question Number : 132 Question Id : 4928631092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For the following reaction. K.=2x10"3
2A=B+C
Identify the correct statement for the reaction when [A]=[B]=[C]=3%10"*M

Bod w$sgs, K. =2x10"
2A=B+C
[A] = [B] = [C] =3x10~* M eaxoiddc & S558 505308 D580 Kr8owhBn

Options :
Proceeds towards the products
RO BSraTrge 3 28D
1 ®
Proceeds towards the reactants
26 Edradso I 28D
2 ¢
Reaction 1s at equilibrium
FOg dHeRE 3§ &HH
i , %)
Reaction completed

$8g T8 wonSs

4 %
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Question Number : 133 Question Id : 4928631093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

At 25°C. the concentration of PbCl, dissolved per cubic decimeter (dm?®) of water is
1.62x10~2 mole. Its solubility product (Ksp) at 25°C 1s

2

504

VI (A )

508 BuH6E (dm?) HBS* ¥od POCLmes 1.62x102 36, 25°C 54
& oadn (Kg)

eEA DEX

8
L
B

£9 000

Options :

1.70%107>
1. ¢

1.62x102

25%

0.9410-10

E.R

2.3x10°°
4 ®

Question Number : 134 Question Id : 4928631094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (

The gas produced when Zn metal is heated with aqueous NaOH 1s

/n &°5%) 2o NaOH & SBBOSY% Jndd 050D

Options :

H,0

O;

[ ]
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Question Number : 135 Question Id : 4928631095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The order of stability for the super oxides 1s

Srdd wgae VIS FEh0D0
& B

Options :

KO, > RbO, > CsO,

1 ®

C503 > Rb02 > KOE
2. ¢

CsO,> KO, > RbO,

3%

RbO, > KO, > CsO,

4Iiﬁ

Question Number : 136 Question Id : 4928631096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following 1s correct with respect to diborane ?

RSB Dowofod) Bod THS' A& JOFIG?
Options :
All B and all H atoms lie in one plane

T o) B. H38Sr00Hen o8 d0od® sodraw

2 %
The two B atoms lie in one plane, above and below this plane there are three H atoms
in each plane

Sod B d¢dreanden o8 d0od® ¢0d, & oo 1§od Surdy So0dkn & B

H 38 Soreadyenodron
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3 %

The two B atoms lie in one plane. above this plane there are two H atoms and below
this plane there are four H atoms

Bodd B HSrenden o3 oo’ wod, & doond Bods H H8Srenhen So0asw

& doo 1ol Trenits H dddrepodenodon

4 &

The two B atoms and four terminal H atoms lie in one plane. above and below this
plane there are two bridging H atoms

3o B HESreanden 508050 Trentd @odd H 38Srmoden 28 dewods® ¢od, &

S0 W H0odw 1Bod Bot H083 H JHdSorenenodron.

Question Number : 137 Question Id : 4928631097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Identify the correct statements from the following
a) Silicones are hydrophobic in nature

The repeatmg unit in silicones 1s

TR LR
CH, D

¢) InC4, molecule. twenty Cy rings and twelve Cs rings are present
d)  Dehydration of formic acid by conc. H,SO, at 100°C gives CO,
¢) The distance between two layers in the graphite 1s 34 pm

1§08 TES® JBGN J3To Nokod
a) QO 2OLGE AFTITA) BOA wolrow

b) 2OFSos® YSTHE TS

CH;

o Py

CH,

€) Cg 20", 283 (g Soairen 080 ok Cs Sooiren eodran

d) 100°C & mg H,S0, & 20§ sird) g08dmo may CO,S 2uind

¢) (TalS" To o Gy Srdsn 34 pm

Options :

a.b. c.d

ab.c
> o

c.d.e
3 ®

a.b.e

collegedunia
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Question Number : 138 Question Id : 4928631098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
When pH of rain water 1s below “X. 1t 1s termed as acid ram. ‘X’ 15?

569 96 pH dend ‘X’ €08 8595 sandhs T ‘whddo’ ©d wotrd. ‘X’ 28?

Options :

7.0

l_ﬁ

N
(@)}

> o

6.0

6.6

Question Number : 139 Question Id : 4928631099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 g of an organic compound contaming C and H. on complete combustion produced 3.04 g of
CO, and 1.53 g of H,O. Find the approximate percentage composition of C and H i the
compound.

C.Hen o 12845 53063°9) o d&rdo Boshed 3.04 g CO, 508050 1.53 gH,0
Dy@on. HIESsn FwE, dowbd TER) 5808,

Options :
% H%
3 7
o 83 1
% H%
80 20
2 ®
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% H%

e B85 15
C% H%
— 12

Question Number : 140 Question Id : 4928631100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (

Which of the following compounds has zero dipole moment (i =10) ?

Sod éﬁoéﬁf@“@@"‘ &5@&35 080 "’c\:oa*'f-’lﬁ (UL=0) b 28?2
Options :

trans - But - 2 - ene

) - 20vgdd - 2 - &

1. ¢

Cis-But-2-ene

L2 a

gﬁ-mﬂgﬁ-l-ﬁﬁ

2 - Methylpropene
2 - QPSP

3 - Methylbut - 1 - ene
3 - WPSarg - 1 - &

Question Number : 141 Question Id : 4928631101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Which of the following gives a red precipitate upon reaction with a terminal alkyne?

808 TES' o8 ©odH ©T),TE G5 2OLSIYE Y Goi> BIEFY) ABYFE DB?

Options :

Cu,Cl,
1.v

*

I:Ag(NH3 )E}QSH

> R

KMnO

3 % :

HgSO,

4.3

Question Number : 142 Question Id : 4928631102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of packing efficiency in fec. bee and simple cubic structure respectively. with
respect to that of fcc is

fcc Sdomm fec, bee Soboin H8¢ DS TSt Srddy FHdsD) QG SEdH

Options :

o 1:092:071

1:0.81:0.67
& w

12071 2858
3 #

1 206D 2055
4 4

Question Number : 143 Question Id : 4928631103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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8.9 g of KC1 dissolved i1 1 L of water exhibited an apparent degree of 1onization of 0.86.
The osmotic pressure exhibited by this solution 1s equal to the osmotic pressure of 1 L
glucose solution of unknown concentration. Calculate the glucose solution concentration
in wt. %. (M. wt. of KCl =74.5).

1L o8 8.9 go KCI& 88h08H 0b 8008 &)fy ©ohIssn odd 0.86. & @Sl
ETDEm HESID, TES B0 1 L ArE'S mind Gordsde HaTas dErssw.
88 (@) mESs Wt % od® 8§ owhdw.

(KCl geoedo = 74.5)

Options :

0.4

1.2

Question Number : 144 Question Id : 4928631104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The vapor pressure of a solution of glucose 1s 720mm Hg at 100°C. What 1s the mole
fraction of water in this solution?

100°C 5§ 828’8 (@rdeed wRyodssn 720mm Hg & @deod® 38 IrS oriRoos?
Options :

72
i 76
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740

. 760
700
760

4 ®

Question Number : 145 Question Id : 4928631105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The emf of the following cell 1s 1.229V at 298 K.

Pt. H, ( 1atm)|H+ (1M)|0, (1atm). Pt

Hz +%02 :H:O

The standard free energy change for the cell reaction 1s
[F =9.649 x 10* C mol™]
298 K 35& §od ooy emf dewsd 1.229V.

Pt. H, (1arm)|H+ (1M)[0, (1atm). Pt

T ;0 ==H,0

D& WEGE (D wﬁﬂ"‘#é Sor8y Wod?
[F =9.649 x 10* C mol]
Options :

—212.77 KJ

1.“

il —237.17 KJ

- =89 15
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—474.3 kJ

Question Number : 146 Question Id : 4928631106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If a first order reaction is found to have a rate constant of 1.386 = 10~12s7!_ the half'life of

the reaction 1n s 1s

P& ESco¥ B
S ©eS°
Options :

6.93 x 10!
1 -

13.86 »x 10!
o w

5.00 x 1011
3 ¢

2.00 x 10!
4 &

080 B0 H20dS Béw Horoso 1.386 x 1071257 o <

55 @G;MJ‘ Sé)S"’EJu

"

Question Number : 147 Question Id : 4928631107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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X _ ; - .
If — k P% equation represents the Freundlich adsorption 1sotherm where x 1s mass of

the gas adsorbed on mass ‘m’ of the adsorbent at pressure P. & and » are constants which
depend on the nature of adsorbent and the gas. Which of the following condition represents
the figure?

—AP% [Fo00dR JIrRdp SEBwos® P wdso S8 ‘m BSgor8 o ©fFTIE0D

m

f

4

(TR BoHS TS0 KH3o°3 x. kSodoho nen edEEo, ol Herdo erdda
RUOTR. 0 & DOPHL0 IErIE FEALgo S0,

1
b X
I
logP —
Options
1
loghk<0. —=1
I
1 ®
1
logk > () —=1
5 % H
|
logk>0. —=0
- 1
1021\' <0, Sl 0
W 1
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Match the following

(a)
(b)
(¢)
(d)

5o

(a)
(b)
(¢)
(d)

List-1

Copper
[ron

Z1mnge
Aluminium

TEQ RSJTBosk

e - 1
5758

P8

208§

©e0 30000

The correct answer 1s

00 BOWN 233720

(1) B (&)
. (11) () (v)
(@ (@b (o)

L@ G

(@ ® (o)

o af (1) () (@v)

(d)

(V)

(d)

(111)

(d)

(1)

List-1I
(1) Bauxite
(1) Malachite
(1) Haematite
(1iv) Calamine
(v) Galena

e - 11
(1) EJ'“?@&S
(1) Sore3&
(i) TrB08eE
(1v) soe
(v) Aoa
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Question Number : 149 Question Id : 4928631109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : (
Which one of the following does not possess N-N bond?

8od 8S® BIS* N-N 200850 Godi?

Options :

Question Number : 150 Question Id : 4928631110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

A solid ‘X" on reaction with dil HCI liberates a gas “Y". which decolorises acidified KMnO,.
X. Y respectively are

X o 2ddn0 208 HC1S® $635708 Y’ o adindsd ddde Sosnos. ‘Y‘.%@é&é
KMnO, & D350 Saiod. X, Yen S804

Options :

Na,S. SO,

l.ﬁ

_, Na,80,.50,

2.

[ ]
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Na,SO,. SO,

3.3:

Na,SO,.H,S

4.R

Question Number : 151 Question Id : 4928631111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

The calculated spin only magnetic moment. u (in BM) of [CoF ]~ is

[COF ]~ B00%), #8008 &S S ©chamof Eriogsn (BM o) dog?

Options :

- 4.90

Question Number : 152 Question Id : 4928631112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (
Which of the following lanthanide 1on has the highest number of unpaired electrons?
Bod TES* w8508 wobd JVEFIS) T odI&E VAErS IB?

Options :

Pm3*

l_ﬁ

gdi BHE

Eu?*
3 %

[ ]
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Gd**
4.

Question Number : 153 Question Id : 4928631113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which one of the following statements 1S not correct?

808 TBS® A JBGS V5B 5°KL?

Options :

Starch and cellulose are polymers of glucose

'Z'J:Stj 0803 "‘amgeﬁ"ﬁw ri::g‘é BwE), &83’»@
1 %

Artificial silk 1s derived from cellulose
éa@ééa i‘befzr 1@@55‘5 DoB Dd&é)éou&:

Z.R

Polystyrene 1s an example of thermoplastic polymer
FOROT ©XI0 T ITRE FOBEH ST

3 8

The monomers of Buna-S rubber are 1soprene and butadiene

DV B wrgbidonsen argd-S dd Bwg) IrS S
4. ¥

Question Number : 154 Question Id : 4928631114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following will not produce an aldehyde group at the anomeric carbon in
solution?

808 T8 EHTrod’ 28 ITH0E G & s JBTHY IG)EHE?
Options :
Sucrose

Bo8°S
1. ¢
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Maltose

Lactose
o8

3. % -
Ribose
[N

N e

Question Number : 155 Question Id : 4928631115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong : 0

Antihistamines generally do not affect the secretion of acid in stomach. as

o‘@uéﬁ"&*gb&%e}a FoS0m z%g?%o@i e300 Dd&@ WS

Options :

Antihistamines are anti allergic

oSirotSirginSen, osroll degsen

1 ®

Antihistamines are amino compounds

BroErPadden, s’ BI0yETren

Antihistamines are acidic compounds

SroBrdtoSes, sl s ¢Tren

Antihistamines work on different receptors

GSroBirddoen F (TirsTeR DAV

4 ¢

Pardo WordY JodBod

Question Number : 156 Question Id : 4928631116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0

-
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The major products P and Q formed in the reactions given below are

8od Bdgees® JHE Herd edyTnes P Q w

HBr
. B
(CﬁHjCO)EOE
> Q
HBr. A

Options :

Q

(XL -

Br
Br
1 ®
p Q
Br
O< O/\Br
" oy
P Q
Br
> Y
3 &
P Q
Br
Cf -
4

Question Number : 157 Question Id : 4928631117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0
What are the products formed in the following reaction?

8ol Woges* Ddgé S ST e e

OCH,

HI
> 7
Options :

Phenol. methyl 10dide

2S, PSS oT0BE
1.

Phenyl 10dide. methanol

236 oRBBE, LSS
> &R

Diphenyl ether. methyl iodide
VIS &40, NFS oB0BE

Diphenyl ether, methanol
336 &6, WESTS

Question Number : 158 Question Id : 4928631118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The reaction of acetylene with H,O in the presence of catalytic amount of HgSO, and dilute
H,SO, gives the product A. Compound A upon treatment with aqueous NaOH forms B. What

are Aand B?

MBS HES e@\SE $05rwos® ¢ HgSO, Sbasw 265 H,S0, d5ges® A e
& S)Bns ad908. SF)¢ssn Aze NaOH 0958gs" B 28)608308. A, B e 227
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A B

CH,=CH-OH HO-HC=CH-OH
1 ®
A B
O
CH; CHO /U\H
>
A B
. CH;CHO CH,-CH=CH-CH,
A B
I
CH,=CH-0-C-CH, CH,=CH-OH
4 R

Question Number : 159 Question Id : 4928631119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which one of the following compounds reacts with phenyl magnesium bromide to form a
salt of benzoic acid?

Bod JdDWTed' 286 IS Dihnohd F'ES WyTod BoX'ows edo By,
OIETV) RN 0H?
Options :

Carbon monoxide

580 I°T8)@

l.ﬁ
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Formuc acid
08 oo
2 %

Formaldehyde
g TR

=

Carbon dioxide

8\w 8 6)&
4. v

Question Number : 160 Question Id : 4928631120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (
Identify the correct percentage of A. B and C formed 1in the following reaction

HNO,+H,S0,
288K

Aniline > 0-Nitro aniline + p-Nitro aniline + m-Nitro aniline

(A) (B) (€)

Bod $83S° A.B S080in Cen 283 H0ghd Ta) Hhgotod

OR PNQ)SSE%SO‘* > 0DE*AVOI + PV’ ANOS + M-JET*ANOI
(A) (B) (©)
Options :
A @ (©
. & Sl 2 47

@ @ (©

2

> o

@A B ©
e 2 41 S
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